# 48th Annual Report 2020/2021





## Committee

Our Centre is managed by our 2020/21 Committee comprising of:

President	Graham O'Brien
Vice President	Karen Farrugia
Secretary	Alison O'Brien
Treasurer	Jason Jobson
Registrar	Ryan Reckerman (Part Season)
Minutes Secretary	Alissa Byatt
Registrar Assistant	
Championships Officer	Paulina Wiecek
Officials Officer	Tayla Jobson
Publicity Officer	
Coaching Co-ordinator	Joey Farrugia
Coaching Assistant	Luke Jobson
Equipment Officer	Damon Byatt
Equipment Assistant	Peter Williams
Age Managers Officer	
Canteen Manager	Graham O'Brien
Ratings Officers	Jonathan Dixon
Uniforms Officer	Swetha Amaresh
Program Manager	
Fund Raising	
General Committee	Nathan Moffit
	Andy Somasundaram

## **President's Report**

We achieved some amazing results in 2020-21 at Girraween Little Athletics

The season was interrupted by COVID-19 with registrations capped at 380 athletes to ensure we adhered to government regulations. It is a credit to our wider committee, ensuring our season ran smoothly with all the hurdles thrown at us. Each and every member of the executive and general committee have volunteered significant amounts of their time. I thank each of you for your outstanding efforts.

This season we welcomed a new sponsor and uniform supplier Sports Magic. Their support and contribution to our Centre is appreciated.

Unfortunately, the season was interrupted with many normal carnivals not held including zone and region championships plus Holroyd Shield. We weren't able to retain the Mid-West Metropolitan Zone Garth Robinson Intercentre Shield but pushed the host Centre in Fairfield to within half a point.

A brief summary of the raw statistics of our season shows that at Girraween Little Athletics there were:

- · 22 weeks of competition
- · 23 athletes attended every week
- · 30 athletes qualified through to the pinnacle of our season, the State Championships at Homebush 6 more than last season
- · Our members set a combined 6,159 new or equal personal bests

The above statistics are a credit to our dedicated coaching team that volunteer their time each week, helping to improve the skills of our athletes.

#### Graham O'Brien



#### Secretary's Report

It was once again a great year to be part of Girraween Little Athletics. Although we did encounter many challenges due to covid restrictions the year was a success.

I would like to thank everyone who is part of the Girraween Little Athletics community for following all of our covid guidelines. We were faced with number restrictions and I'm happy to say our members took this in their stride by not inviting extra family members or friends.

It was wonderful seeing returning athletes and a lot of new faces. We have a broad range of athletes attending our Centre. Those who come for fun and those who come for competition. I'm happy to say whatever your ability your welcome at Girraween.

Lastly, I would like to thank our many volunteers. I would also like to acknowledge all the committee members who volunteer their time and work many unacknowledged hours to ensure everything runs smoothly at Girraween.

Alison O'Brien











## Financials

#### Girraween Little Athletics Centre Inc

PO Box 637 Toongabbie NSW 2146

## Profit & Loss

	Year to	Year to
	31-March-2021	31-March-2020
Revenue		
Registration Fees (cash received)	\$0.00	\$1,347.10
Registration Fee (online)	\$22,438.39	\$21,882.40
Uniform Sales	\$3,134.02	\$8,944.45
Canteen Receipts	\$12,057.58	\$12,707.02
Fund Raising Levy	\$0.00	\$0.00
Interest Received	\$34.97	\$121.29
Miscellaneous	\$273.16	\$0.10
Sponsorship Funds	\$500.00	\$500.00
Donations	\$201.82	\$749.70
Carnival Entry Fees Received	\$0.00	\$1,305.02
Total Revenue	\$38,639.94	\$47,557.08
Gross Profit	\$38,639.94	\$47,557.08
Expenditure		
Bank Charges & Fees	\$0.00	\$2.50
Association Fees	\$60.00	\$0.00
Advertising	\$133.19	\$0.00
Equipment Purchases	\$2,046.22	\$5,692.17
State Merchandise	\$1,063.71	\$1,529.20
Uniforms & Club Products	\$5,305.43	\$10,631.92
Ground Booking Charge	\$1,706.00	\$1,706.00
Trophies etc	\$5,570.00	\$5,769.09
Donations	\$0.00	\$774.99
Levies,Carnivals	\$462.00	\$952.00
Repairs & Maintenance	\$1,030.70	\$423.93
Utilities	\$130.00	\$0.00
Miscellaneous	\$835.96	\$0.00
Canteen Consumables	\$7,639.46	\$9,227.47
Coaching Course Fees	\$246.00	\$0.00
AGM Office of Fair Trading	\$306.47	\$1,184.21
Committee Costs	\$644.70	\$2,031.40
Stationery/ Postage/ Handbooks	\$0.00	\$278.77
Postal Box	\$136.00	\$0.00
Offsite Storage	\$330.00	\$330.00
Total Expenditure	\$27,645.84	\$40,533.65
Net Profit/(Loss)	\$10,994.10	\$7,023.43

Jason Jobson

Treasurer 2020 - 2021

Girraween Little Al PO Box Toongabbie	637	
Balance		
	Year To 31-March-2021	Year To 31-March-2021
Assets		
Bank - Commonwealth Cheque Acc Building Fund - CBA Netsaver	\$32,435.05 \$76,590.17	\$36,475.92 \$61,555.20
Total Assets	\$109,025.22	\$98,031.12
Liabilities		
Net Assets	\$109,025.22	\$98,031.12
Equity		
Reserves Carried Forward	\$98,031.12	\$91,007.69
Surplus/ ( Deficit) for Season	\$10,994.10	\$7,023.43
Total Equity	\$109,025.22	\$98,031.12

#### **Audit Report**

I have audited the financial records and accounts of Girraween Little Athletics Centre Inc. for the year ending 31 March 2021.

In summary I conducted a thorough audit of the accounts,
The audit was conducted in accordance with Australia Accounting
Standards and completed to provide reasonable assurance that the
financial report is free of mismanagement.

The financial report of the Girraween Little Athletics Centre Inc. gives a true and fair view of your financial position as of 31 March 2021 and of its performance for the year ending on that date.

#### Recommendation

The Miscellaneous items - Figures are high for expenses, due to a new web site hosting. It is recommended that new accounts are set up to accommodate these expenses and other miscellaneous items.

Aino Matwisyk Auditor/Bookkeeper

## Registrar's Report

We had 380 registered athletes this season consisting of: -

	Tots	U6	U7	U8	U9	U10	U11	U12	U13	U14	U15	U17
Boys	11	24	31	29	41	19	18	8	7	10	8	6
Girls	12	12	23	18	21	12	26	18	8	6	5	7

The following athletes need to be congratulated for their membership achievements

### 5 years of continuous membership: -

Aashritha Bindela

Joel Byatt

Laelia Byatt

Risa Dhinakaran

Rushanth Dhinakaran

Aaron Dixon

Vinushan Jatheswaran

Caleb Mackie

Bhavya Sri Pagadala

Sri Dhruti Pagadala

Prisha Patel

Oliver Peranovic

Annisha Reader

Tasha Reader

Jack Sabu

Jashanjot Saini

Vithun Sharmilan

Saswin Sivapragas

Harris Suntharesan

Shambhavi Tharmendran

Vinusha Uruthiran

Lucia Vasiliadis

Caleb Williams

## 10 years of continuous membership: -

Daniel O'Donnell

Avilash Tharmanesan

## Coach's Report

This season we experienced some new challenges with restrictions due to Covid 19 forcing some changes to the way we run coaching sessions. I thank everyone from athletes to parents and coaches for working with us to ensure that we were still able to run training sessions to help improve our athletes.

It was great to see some of our older athletes offering to help with training the junior athletes. They are a great inspiration to the younger athletes and it is with hope that they will continue to show an interest in coaching in the future.

With the number of changes throughout the season and the cancellation of a number of carnivals it was exciting to see that we managed to still have 30 athletes qualify for the state championships, the most we have ever had.

Thank you to all the coaches who gave up their time to come and train our athletes throughout the season. Without your dedication we wouldn't be able to offer training in the events that we do. However, we are still unable to offer specific training in all events due to limited coaching staff. We are always in need of more coaches. If anyone is interested in helping to coach next season, please speak to one of the coaches or a committee member. Our current coaches are always happy to pass on their knowledge and experience to anybody interested in learning.

Most of all, thank you to the athletes who arrive ready to learn and improve. Your hard work and dedication show through the many PB's accomplished each week.

Throughout the winter season we are offering cross country training on Monday nights at 6pm. This is a great way to keep fit and work on endurance ready for next season. Hope to see many of our athletes there.

#### **Coaching Coordinator**

#### Joey Farrugia



## Championship's Report

GLAC would like to acknowledge all Athletes for their great efforts and performance during the season 2020/21. The commitment and hard work have reaped good results to the club and individuals.

**New Club Records:** We had 4 new ground records this year that were well deserved.

<u>Girraween Centre Championship:</u> Annual Centre Championship was held on 2<sup>nd</sup> February 2020 with a good number of athletes taking part on a hot day. We are proud to say each athlete competed with friends and peers to the best of their ability.

#### **Inter Centre Challenges:**

Garth Robinson was held at Fairfield this year. Competition was very close and Girraween fought hard. We finished with 697.25 points coming in at second place to Fairfield on 697.75.

**MWM Zone Challenge:** Held over 2 weekends, 123 of our athletes competed. Well done to all who competed.

#### Region (7) Little State Qualifying Meet

**State Championship:** 58 of our athletes competed and should be proud of how they represented Girraween.

**LANSW State Championships:** 29 athletes competed at this high level-well done to all. Congratulations to Annisha Reader who came 1<sup>st</sup> in Discus and 2<sup>nd</sup> in Javelin also Joel Byatt who came 3<sup>rd</sup> in the 1500 Walk. Excellent results!

GLAC is so proud of all the athletes who have pushed themselves and endeavored to achieve excellent results at all levels of Competition. Our Athletes continue to improve their Personal bests, and post new records rivaling other Centre's with their achievements.



## **STOCKTAKE 2020/2021**

ITEM	QTY	COST	VALUE	ITEM	QTY	COST	VALUE
	CANTEEN				T/DISCUS/JAVEL	<u>.IN</u>	
ESKY DRINK BOTTLES	6	10	60	JAVELIN			
BARBECUE	1	500	500	-600g	2	120	240
GAS BOTTLE	3	60	180	-500g	4	106	424
HOT DOG HEATER	1	500	500	-400g	7	98	686
URN	1	200	200	JAVELIN HOLDER PVC PIPING	1	100	100
MICROWAVE	2	250	500	DISCUS - 350g rubber	14	7	98
PIE WARMER	2	510	1020	-500g rubber	10	8	80
METAL STORAGE CABINET	2	200	400	-750g rubber	13	10	130
ESKY - Large	1	40	40	-750g synthetic	9	31	279
FRIDGE - Sharp	1	695	695	-1kg wood	0	18	0
FRIDGE - Gva	1	450	450	- 1kg rubber	10	11	110
FREEZER - Fisher Pykal	1	800	800	-1kg synthetic	8	43	344
DRINKS FRIDGE GLASS DOOR	0	700	0	-1.5kg rubber	5	15	75
FRYPANS	2	60	120	-1.5kg synthetic	3	45	135
COFFEE MACHINE	2	70	140	80L TROLLEY	2	40	80
MILK FROTHER	1	25	25	Discus Rings	0	5	0
LADLE	1	5	5	BEAN discus	6	5	30
ROUND EGGS	20	2	40	SHOTS - 0.5kg pink	5	15	75
SQUARE EGGS	2	2	4	- 1kg blue	17	12	204
TONGS	12	5	60	-1.5kg yellow	13	13	169
CHIP SCOOP	2	12	24	-2kg orange	16	17	272
TEASPOON	5	2	10	-3kg white	11	22	242
SERVING SPOONS	2	4	8	-4kg red	1	26	26
SCISSORS	2	10	20	-5kg green	1	30	30
KNIVES	22	10	220	MILK CRATE	6	10	60
STAY SHARP KNIFE	1	20	20	SPIKES	9	26	234
SPATUALA	3	4	12	TAPE - 15m	4	20	80
EGG FLIPS	5	4	20	-50m	2	35	70
SHARPENING STEELS	2	8	16	PORTABLE THROW RINGS	2	300	600
FORKS	2	2	4	RUBBER SHOTS - 2kg	2	9	18
52L PLASTIC CONTAINERS	2	12	24	-3kg	2	9	18
STAINLESS STEEL WARMERS	1	18	18	BROOM	3	15	45
MEASURING JUGS	1	3	3				
SALT SHAKER	3	5	15		LONG JUMP		
POWER BOARDS	1	12	12	RAKES	5	25	125
CAN OPENER	1	8	8	BROOMS	3	15	45
CASH DRAWER	1	110	110	BRUSH	6	5	30
SMALL DEEP FRYER	1	30	30	FLOATS	6	5	30
SAUCE BOTTLES	5	2	10	SPADE	7	35	245
STAINLESS STEEL BOWL	3	5	15	WATERING CANS	6	5	30
CHIP RACK	2	34	68	FRAMES	3	50	150
FIRST AID KIT	6	30	180	SPIKES	9	26	234
CHOPPING BOARDS	6	8	48	TAPE -15m	6	27	162
APRON	1	10	10	-30m	0	35	0
CLIP IT CONTAINERS	3	8	24	TRAINING BUNGEE	1	25	25
SIGN	1	120	120	WHEELY BIN -BLUE	3	40	120
SLOW COOKER	1	65	65	HOSE ON REEL	1	35	35
MICROWAVE PLATE	1	20	20	CONTAINER RAMP	1	200	200
MOP BUCKET	1	15	15	SPRAY BOTTLES	2	3	6
EGG TIMERS	2	10	20	BLACK BINS	4	12	48
GREEN BIN	1	20	20				
CASH BOX	1	35	1				
PANTRY ORGANISERS	3	12	36				

TINY TOT	S EQUIPMENT				HIGH JUMP		
AGILITY POLES IN BAGS	20	5	100	HIGH JUMP BAGS	6	1200	7200
PARACHUTE	2	120	240	COVERS -BLUE	2	1200	2400
GYM BALL - Blue 1kg	1	9	9	-GREEN	2	1200	2400
NUMBERED BALL SET OF 1-6	0	7	0	BAG TROLLEY	1	1000	1000
NYDA SOFT BALLS	0	2	0	COVERS TROLLEY	1	1000	1000
BASKETBALL -Size 3	4	5	20	BARS	6	102	612
SPIKEY BALL -Red	1	3	3	TRAINING BUNGEE	3	25	75
-Yellow	0	3	0	MEASURING POLES	6	70	420
-Green	0	3	0	STANDS	9	75	675
-Small green	0	0	0	TYRE PUMP	0	15	0
VINYL SOFT SOCCER BALL	0	2	0	SCISSOR MATS	5	1200	6000
SMALL PLASTIC AIR FILLED	3	3	9		HIDDLES		
BALL	3	3	9		<u>HURDLES</u>		
HART SPORTS BAGS ON	5	60	280	HURDLES - Standard	62	105.5	6541
WHEELS		2					
WATERFILLED BALLS	11	2	22	-Tall	15	105.5	1582.5
WHISTLE	0	8	0	TROLLEY	1	1000	1000
SMALL CARRY NETTED BAGS	2	6	12	MEASURING CORD	1	5	5
POP OUT TUNNEL -Red	2	45	90	CHAIR	0	10	0
POLYSTYRENE HOOP STANDS	0	6.5	0	TABLE - 600X1200	0	50	0
HOOPS -Yellow	6	7	42	LED TORCH	2	12	24
-Green	4	7	28				
-Blue	4	7	28				
-Red	3	7	21		<u>CABANNAS</u>		
-Orange stripes	1	7	7	6X3	2	1200	2400
TURBO JAV -Gold	2	50	100	3X3	13	200	2600
-Black	2	50	100	CABANNA WALLS	4	40	160
FOAM JAVS	4	14	56				
BEANIE BALLS -Orange/yellow	18	1	18				
BEAN BAGS NUMBERED 1-6	24	3	72	PEGS BUCKET OF	1	55	1
GRIP BALL SET WITH BALL	2	12	24	JETSTAR/COLES	1	200	200
LADDER	4	40	160	TROLLEY	1	125	125
MINI HURDLES -Yellow	5	13	65		TROPHIES		
-White/green	5	15	75				
-Yellow/blue	5	15	75	COMPETITOR 2016-2017	53	8	424
CATCHING HOOP WITH STAND	0	20	0	2013-2014 COMPETITOR	28	8	224
VORTEX	1	21	21	2018-2019-COMPETITOR	18	8	144
SOFT PRACTICE SHOTS -Red	5	1	5	2 <sup>ND</sup> PLACE	1	11	11
COMET BALLS WITH TAILS	9	11	99	3 <sup>RD</sup> PLACE	3	10	30
MINI PLASTIC RINGS	7	1	7	2019-20 Competitor	52	8	416
GREEN STANDS FOR RINGS	2	1	2	2015-16 Competitor		8	208
				·	26		
INFLATING NEEDLE	0	2	0				
SMALL PLASTIC DOMES	189	1	189	2019-20 2 <sup>nd</sup>	3	11	33
PLASTIC SKIPPING ROPES	15	5	75	2019-20 3rd	5	10	50
HEMP ROPES	2	2	4	2017-18 Competitor	16	9	144
TUG OF WAR ROPE	3	75	225	2015-16 Tots	5	9	45
ORANGE STRAPS IN BAG	9	1	9	2017-18 Tots	25	9	225
SACK RACING BAGS	6	10	60	2017-18 3 <sup>rd</sup>	3	10	30
SAND FILLED BALLS - Red	0	5	0	2020 Tots	8	9	72
-Yellow	0	5	0				
-Green	0	5	0				
COLOURED RINGS							
BLUE RINGS	3	5	15				
GREEN RINGS	4	5	20				
YELLOW RINGS	4	5	20				
RED BALLS	8	5	40				

	Track				Marking		
STARTING ROSTRUM	1	80	80	WITCHES HATS -Large orange	41	11	451
STARTING POST	5	50	250	-small white	4	2	8
STARTING BLOCKS	9	120	1080	-small orange	2	2	4
MEASURING WHEEL	2	30	60	-small blue	19	2	38
SIGNALLING FLAGS SETS	7	5	35	BOUNDRY FLAGS	5	40	200
BATONS	9	3	27	JAV TAPES	12	7	84
UMBRELLAS	1	10	10	LINE MARKER	2	2000	4000
START GUNS	4	80	320	PAINT TROLLEY	1	90	90
MICROPHONE	1	40	40	SPRAY PAINT -White	7	5	35
AMP	1	60	60	-Yellow	11	5	55
2 WAY RADIO	8	50	400	-Blue	2	5	10
STARTING SPINES	4	50	200	-Red	10	5	50
STOP WATCH	14	45	630	BUCKET OF METAL MARKERS	1	5	5
STOP WATCH CASE	2	20	40	STAR PICKETS	32	3	96
CLAPPER GUN	2	40	80	HAMMER	1	12	12
MEGA PHONE	2	150	300	MALLET	2	10	20
BELL	1	50	50	STAR PICKET HAMMER	1	19	19
THERMOMETRE	1	175	175	ROPE ON REELS	5	30	150
TORCH -Dolphin	3	20	60	FLOOD LIGHT	4	30	120
RAINCOAT	1	45	45	LANTERN	2	15	30
BLACK/YELLOW TROLLEYS	2	75	150	TENT POLES	19	3	57
CORNER FLAGS	4	30	120	TARP	0	15	0
TIMING STAND COVERS	0	150	0	CORNER FLAGS	4	10	40
POLES FOR COVERS	0	3	0	CART -Green 4 wheels	2	119	238
EAR MUFFS	3	18	54	PLASTIC ROPE	0	10	0
SPRAY PAINT PINK	2	5	10	ROPES ASSORTED IN BUCKET	1	50	50
SPRAY PAINT GREEN	5	5	25	SAFETY CAPS FOR STAR PICKETS	80	1	80
STARTER BOXES	2	20	40	MEASURING TAPES -100m	3	35	105
RADIO CHARGE TOOL BOX	1	50	50	-50m	3	30	90
BATTERIES	2	20	40	-30m	2	25	50
TROLLEY TYRE	2	10	20	-15m	11	20	220
				BUNTING	2	25	50
				PIGTAILS STAKES	9	4	36
				STAKES -Green	11	4	44
				YELLOW PIGTAIL SPIKES	6	10	60
				OKI STRAPS	5	5	25
				OTTO BIN -Blue	1	40	40
				PAINT STRAINER	1	5	5



	MISCELLANEOUS			TIMING GATE & C	OMPUTER EQU	JIPMENT	
BASKETS – COLES	25	0	0	TROLLEY	1	500	500
- Blue	0	5	0	BASES	9	500	4500
-Red	0	5	0	GATES (POLES)	10	1000	10000
- Limegreen	0	5	0	DONGLE	3	50	150
GENERATOR	1	100	100	STARTING TRANSMITTER	4	100	400
WHITE BOARD	1	90	90	RFID READER	1	100	100
CORK BOARD	3	25	75	CARRY CASE	2	30	60
BOX ATHLETE INFO	1	13	13	USB CABLE	1	20	20
HIGH VISIBILITY VEST	0	10	0	POWR BOARD	4	10	40
STARTERS VEST	2	10	20	BROTHER MFC	1	300	300
AGE MANAGERS VEST	18	10	180	WIFI ROUTER	1	170	170
ORANGE VEST	49	10	490	LAPTOP ASUS	1	700	700
COLES VESTS	77	10	770	LAPTOP LENOVO	1	500	500
AGE MANAGER FOLDERS	19	20	380	LAPTOP HP	2	500	1000
CLIP BOARDS	12	5	60	PRINTER CANNON	0	100	0
MEDICINE BALL -Blue 1kg	2	20	40	LEXMARK PRINTER	0	300	0
-Red 2kg	3	29	87	LASER CARTRIDGES	2	50	100
-Green 3kg	1	41	41	ELECTRONIC STARTER	0	100	0
-Black 4kg	1	41	41	TABLES	8	60	480
YELLOW VENTED BOX	0	10	0	HP 132ON	0	250	0
PETROL TIN	0	25	0	GREEN CHAIRS	24	20	480
MEDAL PODIUM SET OF 3	1	100	100	WIFI CABLE	2	20	40
PRUNING SHEERS	1	16	16	WIFI FLASHER	1	300	300
NEWSLETTER STAND	1	39	39	WIFI FLASHER STAND	1	50	50
ROAD TRAFFIC BARRICADES	0	25	0	AERIAL EXTENDERS	2	20	40
BARRICADE STANDS	0	10	0	WIFI START SPEAKERS	2	200	400
GIRRAWEEN BANNER	2	200	400	PORTABLE PA	1	150	150
PAPER TRAY WOODEN	1	10	10	STRAIGHT TRACK SPEAKER	1	200	200
TAP & POWER BOX TOOL	3	15	45	LAPEL MICS	2	50	100
EXTENSION LEAD	9	15	135	WHITE CHAIRS	5	20	100
FILING CABINET	1	150	150	YELLOW CHAIRS	0	20	0
WIRE SHELVING	4	150	600				
CORDLESS DRILL/CHARGER	1	50	50				
RAFFLE MACHINE	0	50	0				
BOX OF ROPES	0	100	0				
CONTAINER CABLE TIES	1	20	20				
COMPRESSOR	1	30	30	Grand Total			\$90119
METAL DETECTOR	1	50	50				
PLASTIC TUBS	2	10	20				
WHITE BIN + LID	0	18	0				
LOST PROPERTY BASKET	1	30	30				
A+B SIGNS	1	60	60				
DUSTPAN + BROOM	0	10	0				
AGE PATCH BOXES	2	16	32				
BOX OF REPAIR PARTS	1	40	40				
TOOL BOXES LARGE	2	40	80				



## **2020/2021 ATHLETES**

#### Tots

Girls Boys Hannah **Parsons** Sarim Anwar Tilila Aholahi Arthighan Arooran Maria Alameddine Kiaan Chettri Myrah Beadle Elias de savi Ellis Gill Kaylana Harnaam Lara Hannan Tharushan Jatheswaran Lily Palise Sananthesh Kajendra Myra **Pandey** Kush Kasani Anaaya Parikh Oliver Thuaux Aksha Pratheepan Williams Logan Amarra Suntharesa Aadvikrao Yadagiri Walsh Emma

	One	iei o	
	Girls		Boys
Pavnoor Kaur	Bal	Devak	Arun
Krisha	Chauhan	Dhilan	Bakeerathan
Kavya	Ganesh Krishnan	Aadesh	Balendra
Hannah	Johnston	Samvith Reddy	Bindela
Leah	Kot	Janav	Brahmbhatt
Newraa	Newton	Avinash	Challa
Sharmayah	Peragahanraj	Karun	Dangwal
Shayaanah	Peragahanraj	Aryan	DeepakPrasad
Neya	Prasanna	Kyton	Ellis
Kishani	Sanjayan	Aditya	Krishna
Tanishkha	Santosh	Vivaan	Lanjewar
Shaivi	Sharma	Pranshu	Moorthy
		Aaron	Muthiah
		Toviyah	Plassan
		Max	Sabu
		Ekam S Saini	Saini
		Mehtaab	Saini
		Anhad	Sandhu
		Vanujan	Satheesh
		Shaurya Raj	Singh
		Lakshiv	Singla
		Arjun	Thuvaragan
		Dheeran	Vijithan
		Luther	Waweru

	Girls		Boys
Ahana	Acharya	Ethan	Abraham
Sampurna	Chakraborty	William	Aholahi
Nila	Dinesh	Krishan	Ajith
Kavisha	Elango	Kaushan	Arulkumaran
Raima	Goyal	Himansh	Bayawat
Rika	Janakiraman	Cailan	Beadle
Riya	Janakiraman	Devansh	Beri
Hannah	Jayarajan	Christian	Berville
Francesca	Klein	Shlok	Bhandari
Durga	Maiyoouran	Ashton	D'souza
Rithvi	Pandian	Leo	Figliuzzi
Aarusa	Pratheepan	Vidit	Jain
Vishaali	Senthooran	Soane	Kama
Anika	Sharma	Sasmit	Karmarkar
Manasvi	Sharma	Jordan	Liu
Raadhya	Sharma	Connor	Mackie
Ishana	Sivaganesan	Aadidev	Mandakath
Deaisu	Surendrakumar	Om	Mehta
Thibishka	Thushyanthan	Yohan	Modi
Yasheeka	Verma	Devahari	Mohan Prabu
Naomi	Vinothan	Dhilan	Mukundan
Grisha	Wagle	Nikil	Newton
Aaral	Zaveri	Kaival	Patel
		Oliver	Pearce
		Neven	Peranovic
		Theeran	Premananthan
		Nevin	Satheesh
		Arsh Taj	Singh
		Joypreet	Singh
		Louis	Sultana
		Liam	Thuaux



	0	. •	
	Girls		Boys
Emme	Avellino-Laidlaw	Arush	Agarwal
Maliyah	Chehade	Kushagra	Ajay
Rehnoor kaur	Dhillon	Santhosh	Balaruban
Natasha	Elkin	Jordon	Curmi
Chloe	Farrugia	Ibrahim	De Savi
Jaswita	gedela	Neev	Faldu
Emma	Johnston	Patrick	Hannan
Ashwati	Niroshan	Namesh	Haran
Aanya	Pathak	Shreevarshaan	Jatheswaran
Kabisa	Pratheepan	Karthik	Jeyaragavan
Ansheeka	Rathi	Dhruv	Kakarla
Thanushka	Satheesh	Gyaan	Kinkhabwala
Sai Sraddha	Shailesh	Tanish	kovintharayan
Pratha	Shrestha	Raghav	Kundu
Aalayah	Sudarshan	Kavin	Mathurathipan
Aksharah	Thayananth	Vansh	Mittal
Danyaa	Vijithan	Rafael	Mokamba
Fatima	Zeeshan	Akshayan	Mugunthan
		Vedanth	Nambiar
		Aarush	Nemade
		Yuvan	Patel
		Aaron	Rai
		Avyukt	Rao
		Joshua	Reader
		Anojan	Rujenthan
		Kanwarangad	Saini
		Hugo	Siciliano
		Shiv	Sudhish
		Shaurjyeish	Uruthiran



Jack

	Girls
Aradhya	Chauhan
Charitha	Gulla
Scarlett	Hannan
Aarika	Jaganiya
Baani	Kaur
Jasnoor	Kaur
Deetya	Kolli
Akshara	Kumaran
Ashmiga	Nagulan
Keetrah	Pandian
Vedika	Patel
Praneetha	Pathi
Aswethashree	Piratheepan
Mikayla	Robinson
Sharani	Sanjayan
Rahavi	Shanthakumar
Isha	Singh
Keshika	Tharmanesan
Akshaya	Thayananth
Mihika	Verma



Zammit

Rosemary

Asaeli	Aholahi
Lachlan	Andrew
Arnav	Baimbi
Ajan	Balasubramaniam
Anujan	Balasubramaniam
Rubesh	Balendra
Abhay	Bondili
Kai	Browne
Kenji	Browne
Vissakanan	Carthigeyan
Jayden	Chehade
Joseph	Curmi
Aaron	Dixon

Boys

Furmaan Gill
Ajay Gobiharan
Samuel Jackson
Lincoln Klein

Gale

Veera Mugunthan Aaryan Nambiar Aryan Pandey Maadhav Parikh **Emmett Parsons** Kiaan Patel Lachlan Pearce Oliver Peranovic Himaksh **Purohit** Mavish Sharma Vithun Sharmilan Archit Shenoy Arpit Shenoy Zain Shmeissem Aayan Singh Agam Singh

SASWIN SIVAPRAGAS
Giruththik Sivathasan
Maayon Sudarshan
Sineth Thantirige

Tyler Thomas-Knights

Avaneesh Uruthiran Caleb Williams

	Girls		Boys
Tvesha	Dudhatra	Ajanthan	Arooran
Sarvika	Ganji	Adya	Bhushan
Roshan	Golagani	Vincent	Confucious
Dhriti	Goyal	Karnik	Dangwal
Hitanshi	Jain	John	Elkin
Anna	John Boby	Samir	Jain
Laumanu	Kama	Vinushan	Jatheswaran
Madeline	Kot	Nirosh	Kanapathy Pillai
Bhavya Sri	Pagadala	Sachin	Kumar
Joshika	Santosh	Kian	Mirhadi
Shambhavi	Tharmendran	Searalan	Palanickumaran
Makayla	Waweru	Jashanjot	Saini
		Jassvin	Satheesh
		Nirvan	Shrestha
		Harkanwar	singh
		Harris	Suntharesan
		Darun	Thayaparan
		Varun	Thayaparan

		varun	mayaparan
		Alexander	Thuaux
		Under 11	
	Girls		Boys
Tahlia	Allen	Lucas	Aholahi
Charlize	Berville	Jathusan	Bakeerathan
Tanishka	Bondili	Jack	Bryan
Rayhannah	De Savi	Sumer	Chaudhri
Avleen kaur	Dhillon	Darsh	Chitalia
Ashleigh	Farrugia	Jay	Desai
Joshita	gedela	Ryan	Hamilton
Phalguni	Goyal	Josiah	Jackson
Tuaine-marie	Heather	Haamid	Khan
Mansy	Kamalanathan	Caleb	Mackie
Japleen	Kaur	Neel	Modi
Haadia	Khan	Hridhaan	Mulani
Geet	Kinkhabwala	Xavier	Parsons
Emily	Kot	Nikhil	Prasanna
Rachel	Muthiah	Sai Sravan	Shailesh
Sienna	Nasreldin	Adrian	Siciliano
NIKITA	PANDEY	Matthew	Sultana
Akshaini	Pradheepan	Kavin	Tharmanesan
Annisha	Reader		
Saanvi	Shah		
Vidhi	Sharma		
Shikha	Sudhish		
Nidura	Suntharesan		
Lucia	Vasiliadis		
Varuni	Vimalan		
Hiranja	Vinothan		

		Ollaci II	
	Girls		Boys
Georgia	Andrew	Mohamed	Alameddine
Kathryn	Andrew	Adam	Allouche
Aashritha	Bindela	Shrey	Godla
Ruby	Bryan	Maximilian	Okorovik
Ritwika	Challa	NIKHIL	PANDEY
Joanna	Dixon	Hari	Patel
Valencia	D'souza	Lukas	Peranovic
Madison	Gale	Jack	Sabu
Elliana	Henderson		
Latai	Kama		
Kashika	Muhunthan		
Sri Dhruti	Pagadala		
Prisha	Patel		
Rhitika	Patel		
Praseeda	Patthi		
Nirja	Shah		

Sivaganesan

Uruthiran

Imaani

Vinusha

## Under 13

	_		
	Girls		Boys
Aksheeka	Aksheeka	Rushanth	Dhinakaran
Penelope	Circosta	Deshu	Kakarla
Laura	Corvalan Sotomayor	Ben	O'Donnell
Sukanya	Dasgupta	Vihaan	Prasad
Katherine	Farrugia	Rishit	Singh
Chloe	Grogan	Thirushaanth	Tharmendran
Misha	Jain	Zachary	Zammit
Breeanna	Williams		

	Girls		Boys
Ana Maria	Costea	Deluxsen	Arulkumaran
Risa	Dhinakaran	Luke	Berville
Umika	Ganji	Joel	Byatt
Abeni	Henderson	Sohum	Chaudhri
Tasha	Reader	Cooper	McLachlan
Alyssa	Yousif	Aidan	O'Brien
		Ben	Sabu
		Harreshan	Shanthakumar
		Sehaj	Singh
		Tharuka	Thantirige

	Girls		Boys
Anvesha	Bhushan	Lachlan	Allen
Chloe	Bingham	Sumeet	Dasgupta
Laelia	Byatt	Liam	Hamilton
Kiera	Soballa	Daniel	O'Donnell
Hayley	Zammit	Daniel	Sheehan
		Neelesh	Shrestha

Kajanan Srisivaeaswaran Avilash Tharmanesan

	Onac	17	
	Girls		Boys
Hannah	Hamilton	Cristobal	Corvalan Sotomayor
Jessica	O'Brien	Jaiman	Kumar
Harini	Paranthaman	PRANSHAV	SHAH
Liesel	Soballa	Regan	Soballa
Vithussa	Srisivaeaswaran	Rakshaaiyan	Somasundaram
Lojana	Vijeyaratnam	Jordan	Thinesh
Jessie	Wong		



## **COMPETITION RESULTS 2020/2021**

## HOLROYD MUNICIPAL SHIELD CHALLENGE - Not Held this season

### GARTH ROBINSON INTERCENTRE CHAMPIONSHIP

All Centre's in the Mid-West Metropolitan Zone are invited to participate in this challenge. Greystanes won the shield. Results are shown below.

2020/21 Garth Robinson Intercentre Competition								
Girls	Bankstown	Fairfield	Girraween	Greystanes	Holroyd	Everley Park		
Under 7's	14.5	50.5	46.5	0	40	0		
Under 8's	0	37	51	4	28	26		
Under 9's	35	44.5	44.5	0	12	20		
Under 10's	0	40	38	0	50.5	27		
Under 11's	9	36.5	55	0	12	39		
Under 12's	0	40	56	0	0	0		
Under 13's	0	0	51.5	0	0	0		
Under 14/15's	13.5	6	52.5	22	9.5	0		
Under 17's	0	0	28	24	0	0		
Total	72	254.5	423	50	152	112		
Boys	Bankstown	Fairfield	Girraween	Greystanes	Holroyd	Everley Park		
T. 1 51								
Under 7's	0	51	43.5	24.5	0	19		
Under 7's Under 8's	0	36.5	43.5 52.25	24.5	0 45.75	19 0		
Under 8's	0	36.5	52.25	23	45.75	0		
Under 8's Under 9's	0	36.5 46.5	52.25 49.5	23 0	45.75 46.5	0		
Under 8's Under 9's Under 10's Under 11's	0 0 0	36.5 46.5 54.5	52.25 49.5 31	23 0 19.5	45.75 46.5 7.5	0 0 29.78		
Under 8's Under 9's Under 10's Under 11's	0 0 0 0	36.5 46.5 54.5 56	52.25 49.5 31 48.5	23 0 19.5 0	45.75 46.5 7.5 20.5	0 0 29.78 0		
Under 8's Under 9's Under 10's Under 11's Under 12's Under 13's	0 0 0 0 0	36.5 46.5 54.5 56	52.25 49.5 31 48.5 0	23 0 19.5 0	45.75 46.5 7.5 20.5 40	0 0 29.78 0		
Under 8's Under 9's Under 10's Under 11's Under 12's Under 13's Under 14/15's	0 0 0 0 0	36.5 46.5 54.5 56 45.5	52.25 49.5 31 48.5 0 5.5	23 0 19.5 0 0 27	45.75 46.5 7.5 20.5 40 12	0 0 29.78 0 0		
Under 8's Under 9's Under 10's Under 11's Under 12's	0 0 0 0 0 0	36.5 46.5 54.5 56 45.5 43.5	52.25 49.5 31 48.5 0 5.5 44	23 0 19.5 0 0 27 33.5	45.75 46.5 7.5 20.5 40 12 0	0 0 29.78 0 0 13 24.5		
Under 8's Under 9's Under 10's Under 11's Under 12's Under 13's Under 14/15's Under 17's	0 0 0 0 0 0 0	36.5 46.5 54.5 56 56 45.5 43.5 53.75 443.25	52.25 49.5 31 48.5 0 5.5 44 0	23 0 19.5 0 0 27 33.5 31.75 159.25	45.75 46.5 7.5 20.5 40 12 0	0 0 29.78 0 0 13 24.5		

#### MID WEST METRPOLITAN ZONE MULTI - not held this season

## MID WEST METROPOLITAN ZONE CHAMPIONSHIPS - not held this season

## LANSW Region 7 Championships – not held this season

## MID WEST METROPOLITAN ZONE CHALLENGE Under 6 – 8 @ CV Kelly, Girraween 6 December 2020 Under 9 17 @ The Crest Athletics Track, Bankstown 12-13 December 2020

Firstname	Surname	Age	Gen	Event	Pos	Firstname	Surname	Age	Gen	Event	Pos
Pavnoor Kaur	Bal	6	F	200m	7	Devak	Arun	6	М	100m	9
Pavnoor Kaur	Bal	6	F	50m	6	Devak	Arun	6	М	50m	10
Pavnoor Kaur	Bal	6	F	Discus	1	Devak	Arun	6	М	Discus	2
Pavnoor Kaur	Bal	6	F	Long Jump	2	Devak	Arun	6	М	Long Jump	5
Kavya	Ganesh Krishnan	6	F	100m	8	Kyton	Ellis	6	М	50m	6
Kavya	Ganesh Krishnan	6	F	200m	8	Kyton	Ellis	6	М	70m	6
Kavya	Ganesh Krishnan	6	F	50m	7	Kyton	Ellis	6	М	Long Jump	3
Kavya	Ganesh Krishnan	6	F	70m	7	Kyton	Ellis	6	М	Shot Put	1
Leah	Kot	6	F	100m	3	Aditya	Krishna	6	М	200m	4
Leah	Kot	6	F	200m	6	Toviyah	Plassan	6	М	100m	3
Leah	Kot	6	F	300m	1	Toviyah	Plassan	6	М	200m	3
Leah	Kot	6	F	70m	5	Toviyah	Plassan	6	М	50m	3
						Toviyah	Plassan	6	М	70m	4





Firstname	Surname	Age	Gen	Event	Pos
sampurna	chakraborty	7	F	100m	12
sampurna	chakraborty	7	F	50m	11
sampurna	chakraborty	7	F	Long Jump	8
sampurna	chakraborty	7	F	Shot Put	6
Nila	Dinesh	7	F	200m	8
Nila	Dinesh	7	F	500m	7
Raima	Goyal	7	F	Long Jump	9
Raima	Goyal	7	F	Shot Put	5
Rika	Janakiraman	7	F	50m	12
Rika	Janakiraman	7	F	70m	10
Rika	Janakiraman	7	F	Discus	4
Riya	Janakiraman	7	F	70m	9
Riya	Janakiraman	7	F	Discus	7
Riya	Janakiraman	7	F	Long Jump	6
DURGA	MAIYOOURAN	7	F	100m	11
DURGA	MAIYOOURAN	7	F	Shot Put	4
RITHVI	PANDIAN	7	F	200m	7
RITHVI	PANDIAN	7	F	500m	6
RITHVI	PANDIAN	7	F	Shot Put	7
Deaisu	Surendrakumar	7	F	100m	2
Deaisu	Surendrakumar	7	F	200m	1
Deaisu	Surendrakumar	7	F	50m	2
Deaisu	Surendrakumar	7	F	70m	2
Thibishka	Thushyanthan	7	F	Discus	8
Thibishka	Thushyanthan	7	F	Long Jump	10
Naomi	Vinothan	7	F	200m	6
Naomi	Vinothan	7	F	50m	5
Naomi	Vinothan	7	F	70m	8
Naomi	Vinothan	7	F	Discus	2
Grisha	Wagle	7	F	500m	5

Firstname	Surname	Age	Gen	Event	Pos
Himansh	Bayawat	7	М	200m	10
Himansh	Bayawat	7	М	Long Jump	3
Himansh	Bayawat	7	М	Shot Put	4
Christian	Berville	7	М	500m	8
Christian	Berville	7	М	70m	15
Christian	Berville	7	М	Discus	5
Christian	Berville	7	М	Long Jump	11
Ashton	D'souza	7	М	100m	11
Ashton	D'souza	7	М	200m	8
Ashton	D'souza	7	М	50m	8
Ashton	D'souza	7	М	70m	12
Connor	Mackie	7	М	100m	3
Connor	Mackie	7	М	200m	1
Connor	Mackie	7	М	50m	1
Connor	Mackie	7	М	70m	2
Devahari	Mohan Prabu	7	М	100m	19
Devahari	Mohan Prabu	7	М	500m	10
Arsh Taj	Singh	7	М	100m	13
Arsh Taj	Singh	7	М	50m	10
Arsh Taj	Singh	7	М	70m	13
Joypreet	singh	7	М	Long Jump	9
Louis	Sultana	7	М	500m	4
Louis	Sultana	7	М	Discus	4
Louis	Sultana	7	М	Shot Put	7
Liam	Thuaux	7	М	Discus	7
Liam	Thuaux	7	М	Long Jump	7
Liam	Thuaux	7	М	Shot Put	3





Firstname	Surname	Age	Gen	Event	Pos
Emme	Avellino-Laidlaw	8	F	60m Hurd	4
Emme	Avellino-Laidlaw	8	F	Discus	1
Emme	Avellino-Laidlaw	8	F	Long Jump	3
Emme	Avellino-Laidlaw	8	F	Shot Put	4
Rehnoor kaur	Dhillon	8	F	70m	9
Rehnoor kaur	Dhillon	8	F	Discus	8
Rehnoor kaur	Dhillon	8	F	Long Jump	10
Rehnoor kaur	Dhillon	8	F	Shot Put	7
Chloe	Farrugia	8	F	400m	5
Chloe	Farrugia	8	F	700m	5
Chloe	Farrugia	8	F	Discus	5
Chloe	Farrugia	8	F	Long Jump	7
Sai Sraddha	Shailesh	8	F	200m	5
Sai Sraddha	Shailesh	8	F	400m	2
Sai Sraddha	Shailesh	8	F	60m Hurd	2
Sai Sraddha	Shailesh	8	F	700m	1
Fatima	Zeeshan	8	F	70m	8
Fatima	Zeeshan	8	F	Discus	7
Fatima	Zeeshan	8	F	Long Jump	9
Fatima	Zeeshan	8	F	Shot Put	8

Firstname	Surname	Age	Gen	Event	Pos
Ibrahim	De Savi	8	М	200m	9
Ibrahim	De Savi	8	М	700m	3
Ibrahim	De Savi	8	М	Long Jump	6
Neev	Faldu	8	М	60m Hurd	2
Neev	Faldu	8	М	Discus	3
Neev	Faldu	8	М	Long Jump	3
Neev	Faldu	8	М	Shot Put	3
Shreevarshaan	Jatheswaran	8	М	100m	7
Shreevarshaan	Jatheswaran	8	М	200m	4
Shreevarshaan	Jatheswaran	8	М	400m	3
Karthik	Jeyaragavan	8	М	70m	8
Karthik	Jeyaragavan	8	М	Discus	8
Karthik	Jeyaragavan	8	М	Long Jump	7
Karthik	Jeyaragavan	8	М	Shot Put	9
Gyaan	Kinkhabwala	8	М	100m	4
Gyaan	Kinkhabwala	8	М	200m	3
Gyaan	Kinkhabwala	8	М	400m	2
Gyaan	Kinkhabwala	8	М	60m Hurd	11
Rafael	Mokamba	8	М	400m	9
Rafael	Mokamba	8	М	700m	2
Rafael	Mokamba	8	М	Discus	6
Rafael	Mokamba	8	М	Shot Put	8
Vedanth	Nambiar	8	М	100m	3
Vedanth	Nambiar	8	М	60m Hurd	7
Vedanth	Nambiar	8	М	70m	4
YUVAN	PATEL	8	М	100m	8
YUVAN	PATEL	8	М	200m	8
YUVAN	PATEL	8	М	400m	10
YUVAN	PATEL	8	М	Long Jump	5
Hugo	Siciliano	8	М	60m Hurd	12
Hugo	Siciliano	8	М	700m	4
Hugo	Siciliano	8	М	Discus	12
Hugo	Siciliano	8	М	Shot Put	10





Firstname	Surname	Age	Gen	Event	Pos
Charitha	Gulla	9	F	100m	5
Charitha	Gulla	9	F	60m Hurd	3
Charitha	Gulla	9	F	70m	5
Jasnoor	Kaur	9	F	60m Hurd	2
Jasnoor	Kaur	9	F	700m Walk	1
Jasnoor	Kaur	9	F	800m	4
Jasnoor	Kaur	9	F	Discus	2
Akshara	Kumaran	9	F	100m	3
Akshara	Kumaran	9	F	60m Hurd	1
Akshara	Kumaran	9	F	70m	4
Akshara	Kumaran	9	F	High Jump	2
Ashmiga	Nagulan	9	F	100m	7
Ashmiga	Nagulan	9	F	Discus	7
Ashmiga	Nagulan	9	F	Long Jump	4
KEETRAH	PANDIAN	9	F	200m	9
KEETRAH	PANDIAN	9	F	Discus	4
KEETRAH	PANDIAN	9	F	Long Jump	6
KEETRAH	PANDIAN	9	F	Shot Put	7
Vedika	Patel	9	F	400m	4
Vedika	Patel	9	F	High Jump	2
Vedika	Patel	9	F	Shot Put	6
Aswethashree	Piratheepan	9	F	200m	8
Aswethashree	Piratheepan	9	F	Long Jump	2
Mikayla	Robinson	9	F	700m Walk	3
Mikayla	Robinson	9	F	Discus	6
Mikayla	Robinson	9	F	Shot Put	3
Sharani	Sanjayan	9	F	400m	6
Sharani	Sanjayan	9	F	800m	5
Sharani	Sanjayan	9	F	Long Jump	7
Rahavi	shanthakumar	9	F	200m	7
Rahavi	shanthakumar	9	F	400m	5
Rahavi	shanthakumar	9	F	70m	6
Keshika	Tharmanesan	9	F	100m	6
Keshika	Tharmanesan	9	F	400m	7
Keshika	Tharmanesan	9	F	700m Walk	4
AKSHAYA	THAYANANTH	9	F	200m	6
AKSHAYA	THAYANANTH	9	F	60m Hurd	1
AKSHAYA	THAYANANTH	9	F	60m Hurd	7
AKSHAYA	THAYANANTH	9	F	70m	7
AKSHAYA	THAYANANTH	9	F	Shot Put	5

Firstname	Surname	Age	Gen	Event	Pos
Lachlan	Andrew	9	М	Discus	3
Joseph	Curmi	9	М	60m Hurd	4
Joseph	Curmi	9	М	Discus	4
Joseph	Curmi	9	М	Long Jump	5
Joseph	Curmi	9	М	Shot Put	5
Jack	Gale	9	М	70m	4
Jack	Gale	9	М	Shot Put	1
Emmett	Parsons	9	М	200m	2
Emmett	Parsons	9	М	400m	1
Emmett	Parsons	9	М	Long Jump	1
Lachlan	Pearce	9	М	400m	6
SASWIN	SIVAPRAGAS	9	М	60m Hurd	6
SASWIN	SIVAPRAGAS	9	М	70m	5
Sineth	Thantirige	9	М	800m	1
Sineth	Thantirige	9	М	Long Jump	4
Caleb	Williams	9	М	100m	7
Caleb	Williams	9	М	Discus	1





Firstname	Surname	Age	Gen	Event	Pos
Hitanshi	Jain	10	F	400m	2
Hitanshi	Jain	10	F	800m	1
Hitanshi	Jain	10	F	High Jump	1
Hitanshi	Jain	10	F	Long Jump	7
Madeline	Kot	10	F	1100m Walk	1
Madeline	Kot	10	F	70m	6
Madeline	Kot	10	F	800m	3
Madeline	Kot	10	F	Shot Put	4

Firstname	Surname	Age	Gen	Event	Pos
Adya	Bhushan	10	М	1100m Walk	1
Adya	Bhushan	10	М	High Jump	4
Adya	Bhushan	10	М	Long Jump	4
Nirosh	Kanapathy Pillai	10	М	800m	4
Nirosh	Kanapathy Pillai	10	М	Discus	6
Nirosh	Kanapathy Pillai	10	М	High Jump	2
Kian	Mirhadi	10	М	Discus	3
Kian	Mirhadi	10	М	Shot Put	6
Searalan	Palanickumaran	10	М	100m	7
Searalan	Palanickumaran	10	М	200m	6
Searalan	Palanickumaran	10	М	60m Hurd	5
JASSVIN	SATHEESH	10	М	100m	9
JASSVIN	SATHEESH	10	М	200m	7
JASSVIN	SATHEESH	10	М	60m Hurd	6
JASSVIN	SATHEESH	10	М	Shot Put	11
Nirvan	Shrestha	10	М	400m	5
Nirvan	Shrestha	10	М	70m	5
Nirvan	Shrestha	10	М	Discus	7
Nirvan	Shrestha	10	М	Shot Put	2
Alexander	Thuaux	10	М	800m	3
Alexander	Thuaux	10	М	Discus	12
Alexander	Thuaux	10	М	Long Jump	6
Alexander	Thuaux	10	М	Shot Put	5



Firstname	Surname	Age	Gen	Event	Pos
Charlize	Berville	11	F	400m	4
Charlize	Berville	11	F	800m	4
Charlize	Berville	11	F	80m Hurd	4
Charlize	Berville	11	F	Long Jump	4
Ashleigh	Farrugia	11	F	1100m Walk	1
Ashleigh	Farrugia	11	F	800m	6
Ashleigh	Farrugia	11	F	Javelin	3
Ashleigh	Farrugia	11	F	Triple Jump	3
Phalguni	Goyal	11	F	100m	7
Phalguni	Goyal	11	F	Discus	10
Phalguni	Goyal	11	F	Long Jump	5
Phalguni	Goyal	11	F	Shot Put	7
Japleen	Kaur	11	F	100m	6
Japleen	Kaur	11	F	200m	4
Emily	Kot	11	F	400m	1
Emily	Kot	11	F	800m	1
Emily	Kot	11	F	High Jump	1
Emily	Kot	11	F	Triple Jump	1
Annisha	Reader	11	F	Discus	1
Annisha	Reader	11	F	Javelin	1
Annisha	Reader	11	F	Shot Put	2
Annisha	Reader	11	F	Triple Jump	2
Lucia	Vasiliadis	11	F	Discus	3
Lucia	Vasiliadis	11	F	Shot Put	5
Varuni	Vimalan	11	F	100m	2
Varuni	Vimalan	11	F	1500m	4
l			1	1	l

Firstname	Surname	Age	Gen	Event	Pos
Lucas	Aholahi	11	М	100m	3
Lucas	Aholahi	11	М	80m Hurd	3
Lucas	Aholahi	11	М	Long Jump	2
Jack	Bryan	11	М	1100m Walk	1
Jack	Bryan	11	М	Discus	6
Jack	Bryan	11	М	Shot Put	8
Ryan	Hamilton	11	М	800m	5
Ryan	Hamilton	11	М	High Jump	2
Ryan	Hamilton	11	М	Long Jump	5
Sai Sravan	Shailesh	11	М	200m	4
Sai Sravan	Shailesh	11	М	800m	3
Sai Sravan	Shailesh	11	М	80m Hurd	6
Sai Sravan	Shailesh	11	М	Triple Jump	3
Adrian	Siciliano	11	М	100m	10
Adrian	Siciliano	11	М	Discus	1
Adrian	Siciliano	11	М	Shot Put	5
Adrian	Siciliano	11	М	Triple Jump	4
Kavin	Tharmanesan	11	М	Shot Put	1



Firstname	Surname	Age	Gen	Event	Pos
Kathryn	Andrew	12	F	Shot Put	2
Georgia	Andrew	12	F	Shot Put	5
Georgia	Andrew	12	F	Triple Jump	6
Ruby	Bryan	12	F	1500m	2
Ruby	Bryan	12	F	1500m Walk	1
Ruby	Bryan	12	F	800m	2
Joanna	Dixon	12	F	800m	4
Joanna	Dixon	12	F	Discus	5
Valencia	D'souza	12	F	100m	13
Valencia	D'souza	12	F	400m	6
Madison	Gale	12	F	80m Hurd	4
Madison	Gale	12	F	Discus	3
Madison	Gale	12	F	Shot Put	3
Elliana	Henderson	12	F	100m	6
Elliana	Henderson	12	F	1500m Walk	3
Elliana	Henderson	12	F	80m Hurd	5
Elliana	Henderson	12	F	Triple Jump	3
Prisha	Patel	12	F	100m	12
Rhitika	Patel	12	F	400m	4
Rhitika	Patel	12	F	High Jump	2
Prisha	Patel	12	F	Long Jump	6
Rhitika	Patel	12	F	Triple Jump	1
Imaani	Sivaganesan	12	F	100m	5
Imaani	Sivaganesan	12	F	Shot Put	4

Firstname	Surname	Age	Gen	Event	Pos
Laura	Corvalan Sotomayor	13	F	1500m Walk	1
Laura	Corvalan Sotomayor	13	F	Javelin	3
Sukanya	Dasgupta	13	F	200m	2
Sukanya	Dasgupta	13	F	200m Hurd	1
Sukanya	Dasgupta	13	F	High Jump	2
Sukanya	Dasgupta	13	F	Long Jump	3
Katherine	Farrugia	13	F	1500m Walk	2
Katherine	Farrugia	13	F	Discus	3
Katherine	Farrugia	13	F	Javelin	4
Katherine	Farrugia	13	F	Shot Put	3
Chloe	Grogan	13	F	1500m	1
Chloe	Grogan	13	F	3000m	1
Chloe	Grogan	13	F	800m	2
Chloe	Grogan	13	F	Triple Jump	2
Breeanna	Williams	13	F	100m	2
Breeanna	Williams	13	F	Discus	1
Breeanna	Williams	13	F	Long Jump	2
Breeanna	Williams	13	F	Shot Put	1

Firstname	Surname	Age	Gen	Event	Pos
Mohamed	Alameddine	12	М	100m	5
Mohamed	Alameddine	12	М	1500m	2
Mohamed	Alameddine	12	М	400m	2
Shrey	GODLA	12	М	100m	1
Shrey	GODLA	12	М	200m	1
Shrey	GODLA	12	М	800m	2
Shrey	GODLA	12	М	Javelin	3



Firstname	Surname	Age	Gen	Event	Pos
Rishit	Singh	13	М	100m	3
Rishit	Singh	13	М	200m	2



Firstname	Surname	Age	Gen	Event	Pos
Ana Maria	Costea	14	F	100m	3
Ana Maria	Costea	14	F	200m	1
Ana Maria	Costea	14	F	High Jump	1
Ana Maria	Costea	14	F	Triple Jump	2
Abeni	Henderson	14	F	1500m Walk	1
Abeni	Henderson	14	F	Long Jump	3
Abeni	Henderson	14	F	Shot Put	3
Abeni	Henderson	14	F	Triple Jump	3

Firstname	Surname	Age	Gen	Event	Pos
Luke	Berville	14	М	1500m	3
Luke	Berville	14	М	400m	6
Luke	Berville	14	М	800m	4
Luke	Berville	14	М	Long Jump	4
HARRESHAN	SHANTHAKUMAR	14	М	1500m	5
HARRESHAN	SHANTHAKUMAR	14	М	3000m	3
HARRESHAN	SHANTHAKUMAR	14	М	800m	6
HARRESHAN	SHANTHAKUMAR	14	М	Long Jump	5
Tharuka	Thantirige	14	М	1500m	4
Tharuka	Thantirige	14	М	Triple Jump	4

Firstname	Surname	Age	Gen	Event	Pos
Laelia	Byatt	15	F	1500m Walk	1

Firstname	Surname	Age	Gen	Event	Pos
Sumeet	Dasgupta	15	М	100m	2
Sumeet	Dasgupta	15	М	800m	1
Sumeet	Dasgupta	15	М	Long Jump	2
Sumeet	Dasgupta	15	М	Triple Jump	1
Liam	Hamilton	15	М	800m	3
Liam	Hamilton	15	М	High Jump	1
Daniel	Sheehan	15	М	1500m	1
Daniel	Sheehan	15	М	3000m	1
Daniel	Sheehan	15	М	800m	2
Daniel	Sheehan	15	М	Discus	4
Neelesh	Shrestha	15	М	100m Hurd	1
Neelesh	Shrestha	15	М	200m	2
Neelesh	Shrestha	15	М	300m Hurd	1
Neelesh	Shrestha	15	М	Long Jump	1
Kajanan	Srisivaeaswaran	15	М	Discus	1
Kajanan	Srisivaeaswaran	15	М	Javelin	1
Kajanan	Srisivaeaswaran	15	М	Long Jump	3
Kajanan	Srisivaeaswaran	15	М	Shot Put	1
Avilash	Tharmanesan	15	М	Discus	3



Firstname	Surname	Age	Gen	Event	Pos
Hannah	Hamilton	17	F	1500m	1
Hannah	Hamilton	17	F	High Jump	1
Hannah	Hamilton	17	F	Javelin	3
Hannah	Hamilton	17	F	Triple Jump	2
Jessica	O'Brien	17	F	200m	3
Harini	Paranthaman	17	F	Discus	2
Harini	Paranthaman	17	F	Javelin	2
Harini	Paranthaman	17	F	Shot Put	1
Vithussa	Srisivaeaswaran	17	F	Long Jump	1
Vithussa	Srisivaeaswaran	17	F	Triple Jump	1
Jessie	Wong	17	F	100m	1
Jessie	Wong	17	F	100m Hurd	1
Jessie	Wong	17	F	200m	1
Jessie	Wong	17	F	300m Hurd	1

Firstname	Surname	Age	Gen	Event	Pos
Cristobal	Corvalan Sotomayor	17	М	Javelin	1
PRANSHAV	SHAH	17	М	1500m	1
PRANSHAV	SHAH	17	М	3000m	1



## LANSW Region 7 Championships – not held this season

## LANSW Region 7 Littles State Qualifier Meet 6-7 February Campbelltown Sportsground

	Seed	Heats		Final	
Girraween					
1 Lucas Aholahi - Male - Age: 11 - Comp#:	5001				
#20 Boys U 11 100 Metre Sprint	14.75	14.47	(4)	14.52	(4) *
#40 Boys U 11 200 Metre Sprint	31.80	DNS			
#76 Boys U 11 80 Metre Hurdles (60cm)	15.23	15.87	(7)	15.48	(5)
#178 Boys U 11 Long Jump	3.84m			3.70m	(6)
2 Mohammed Alameddine - Male - Age: 12	•				
#22 Boys U 12 100 Metre Sprint	15.23	15.11	(8)	15.23	(6) *
#42 Boys U 12 200 Metre Sprint	32.29	DNS			
#60 Boys U 12 400 Metre Sprint	1:14.69			1:11.07	(3) *
#78 Boys U 12 80 Metre Hurdles (68cm)	18.13	DNS			
3 Georgia Andrew - Female - Age: 12 - Com	ıp#: 4898				
#211 Girls U 12 Discus (750 Gram)	15.23m			15.36m	(9) *
#231 Girls U 12 Shot Put (2.0 Kg)	5.53m			4.89m	(15)
4 Kathryn Andrew - Female - Age: 12 - Con	np#: 4897				
#211 Girls U 12 Discus (750 Gram)	16.42m			16.08m	(7)
#231 Girls U 12 Shot Put (2.0 Kg)	7.05m			7.41m	(4) *
5 Lachlan Andrew - Male - Age: 9 - Comp#:	4899				
#206 Boys U 9 Discus (500 Gram)	14.10m			8.36m	(20)
6 Jathusan Bakeerathan - Male - Age: 11 - 0	Comp#: 4896				
#40 Boys U 11 200 Metre Sprint	36.22	DNS			
#58 Boys U 11 400 Metre Sprint	1:29.08			1:24.94	(18) *
#118 Boys U 11 1500 Metre Run	6:47.91			6:20.63	(13) *
7 Charlize Berville - Female - Age: 11 - Con	np#: 4955				
#57 Girls U 11 400 Metre Sprint	1:26.15			1:25.71	(6) *
#103 Girls U 11 800 Metre Run	3:10.57			3:17.30	(7)
8 Adya Bushan - Male - Age: 10 - Comp#: 4	908				
#56 Boys U 10 400 Metre Sprint	1:28.80			1:25.23	(16) *
#140 Boys U 10 1100 Metre Walk	7:38.50			7:17.21	(2) *
9 Jack Byran - Male - Age: 11 - Comp#: 492					
#142 Boys U 11 1100 Metre Walk	7:13.28			7:37.90	(1)
10 Ruby Byran - Female - Age: 12 - Comp#:					
#59 Girls U 12 400 Metre Sprint	1:20.29			DNS	
#105 Girls U 12 800 Metre Run	3:06.29			DNS	
#119 Girls U 12 1500 Metre Run	6:19.15			6:27.09	(7)
#143 Girls U 12 1500 Metre Walk	8:49.72			9:08.19	(2)
11 Joseph Curmi - Male - Age: 9 - Comp#: 52				5.00.15	(-)
#72 Boys U 9 60 Metre Hurdles (45cm)	12.93	12.77	(5)	12.78	(6) *
#206 Boys U 9 Discus (500 Gram)	11.88m	12.77	(-)	15.63m	(8) *
#226 Boys U 9 Shot Put (2.0 Kg)	4.66m			4.71m	(8) *
12 Jay Desai - Male - Age: 11 - Comp#: 4961					(-)
#118 Boys U 11 1500 Metre Run	6:48.19			DNS	
13 Valencia D'Souza - Female - Age: 12 - Cor				2115	
#59 Girls U 12 400 Metre Sprint	1:26.98			1:29.42	(11)
14 Ashleigh Farrugia - Female - Age: 11 - Co				1.25.42	(11)
#103 Girls U 11 800 Metre Run	3:09.95			3:19.40	(0)
#141 Girls U 11 1100 Metre Walk	6:31.41			6:21.91	(9) (2) *
#189 Girls U 11 Triple Jump	6.81m			6.42m	(9)
#241 Girls U 11 Javelin (400 Gram)	11.09m			10.75m	(4)
	11.0911			10.75M	(4)
15 Jack Gale - Male - Age: 9 - Comp#: 5085	10.02	10.46	(11)		
#8 Boys U 9 70 Metre Sprint	12.27	12.46	(11)	10.07	(T) +
#72 Boys U 9 60 Metre Hurdles (45cm)	13.31	12.96	(6)	12.87	(f) *
#206 Boys U 9 Discus (500 Gram)	17.84m			18.76m	(6) *
#226 Boys U 9 Shot Put (2.0 Kg)	6.05m			5.65m	(4)

	Seed	Heats		Final		
Girraween						
16 Madison Gale - Female - Age: 12 - Comp# #77 Girls U 12 80 Metre Hurdles (68cm)	#: 5084 18.32	18.47	(15)			
#179 Girls U 12 Long Jump	3.32m	10.47	(13)	3.38m	(10) *	
#211 Girls U 12 Discus (750 Gram)	18.27m			19.84m	(2) *	
#231 Girls U 12 Shot Put (2.0 Kg)	6.47m			7.05m	(8) *	
17 Sarvika Ganji - Female - Age: 10 - Comp				7.0321	(0)	
#73 Girls U 10 60 Metre Hurdles (60cm)	15.02	13.66	(12)		*	
18 Charitha Gulla - Female - Age: 9 - Comp		15.00	(12)			
#15 Girls U 9 100 Metre Sprint	18.93	18.03	(10)		*	
#71 Girls U 9 60 Metre Hurdles (45cm)	13.76	13.46			*	
#137 Girls U 9 700 Metre Walk	5:09.43	22.10	(20)	5:15.49	(4)	
#173 Girls U 9 Long Jump	2.61m			2.69m	(10) *	
19 Ryan Hamilton - Male - Age: 11 - Comp#					(/	
#158 Boys U 11 High Jump (S/H 1.10m)	1.20m			NH		
20 Scarlett Hannan - Female - Age: 9 - Comp						
#53 Girls U 9 400 Metre Sprint	1:39.47			1:35.47	(12) *	
#99 Girls U 9 800 Metre Run	3:37.32			3:31.87	(10) *	
#205 Girls U 9 Discus (500 Gram)	10.12m			9.21m	(9)	
#225 Girls U 9 Shot Put (2.0 Kg)	3.45m			3.63m	(9) *	
21 Elliana Henderson - Female - Age: 12 - Co	omp#: 5025					
#21 Girls U 12 100 Metre Sprint	15.98	15.79	(17)		*	
#77 Girls U 12 80 Metre Hurdles (68cm)	19.00	DNS				
#143 Girls U 12 1500 Metre Walk	10:39.52			10:52.75	(4)	
#191 Girls U 12 Triple Jump	7.55m			6.48m	(14)	
22 Josiah Jackson - Male - Age: 11 - Comp#:	4935					
#58 Boys U 11 400 Metre Sprint	1:29.35			1:23.57	(17) *	
#118 Boys U 11 1500 Metre Run	6:34.25			6:25.39	(16) *	
#178 Boys U 11 Long Jump	3.30m			3.25m	(11)	
23 Samuel Jackson - Male - Age: 9 - Comp#:	4936					
#54 Boys U 9 400 Metre Sprint	1:31.62			1:29.42	(13) *	
#72 Boys U 9 60 Metre Hurdles (45cm)	13.06	11.90	(2)	11.77	(2) *	
#100 Boys U 9 800 Metre Run	3:30.09			3:35.09	(10)	
#174 Boys U 9 Long Jump	3.13m			2.73m	(17)	
24 Aarika Jaganija - Female - Age: 9 - Comp	#: 5241					
#205 Girls U 9 Discus (500 Gram)	9.15m			9.00 m	(10)	
#225 Girls U 9 Shot Put (2.0 Kg)	3.41m			2.56m	(17)	
25 Hitanshi Jain - Female - Age: 10 - Comp#	: 4930					
#9 Girls U 10 70 Metre Sprint	13.21	DNS				
#55 Girls U 10 400 Metre Sprint	1:21.55			1:18.54	(6) *	
#73 Girls U 10 60 Metre Hurdles (60cm)	14.77	14.20	(17)	0.56.00	*	
#101 Girls U 10 800 Metre Run	3:10.41			2:56.90	(2) *	
26 Nirosh Kaanapathy Pillai - Male - Age: 10	_	•			-	
#208 Boys U 10 Discus (500 Gram)	13.22m			16.72m	(7) *	
#228 Boys U 10 Shot Put (2.0 Kg)	5.80m			5.46m	(13)	
27 Jasnoor Kaur - Female - Age: 9 - Comp#:		10.70				
#71 Girls U 9 60 Metre Hurdles (45cm)	13.71	13.78	(14)	5.00.06	/20 A	
#137 Girls U 9 700 Metre Walk	5:07.68			5:03.36	(2) *	
#173 Girls U 9 Long Jump	2.65m			2.61m	(11)	
#205 Girls U 9 Discus (500 Gram)	10.55m			11.80m	(6) *	
28 Emily Kot - Female - Age: 11 - Comp#: 49				1.07.05	(1) *	
#57 Girls U 11 400 Metre Sprint #103 Girls U 11 800 Metre Run	1:12.01 2:49.69			1:07.95 2:43.00	(1) *	
					(1) *	
#157 Girls U 11 High Jump (S/H 1.05m)	1.25m			1.17m	(2)	
#189 Girls U 11 Triple Jump	8.22m			7.97m	(5)	
29 Madeline Kot - Female - Age: 10 - Comp#				3:25.63	(11)	
#101 Girls U 10 800 Metre Run #130 Girls U 10 1100 Metre Walls	3:23.12				(11) *	
#139 Girls U 10 1100 Metre Walk #227 Girls U 10 Shot Put (2.0 Kg)	7:09.88 4.36m			6:44.81 3.86m	(1) * (13)	
#227 GHS O TO SHOT PUT (2.0 Kg)	4.50H			3.00H	(13)	

	Seed	Heats		Final		
rraween						
30 Akshara Kumaran - Female - Age: 9 - Cor	•	Date				
#35 Girls U 9 200 Metre Sprint	39.68	DNS		1.21.21	(1M) +	
#53 Girls U 9 400 Metre Sprint	1:34.80 12.62	12.00	(6)	1:31.21	(10) *	
#71 Girls U 9 60 Metre Hurdles (45cm)	12.02 10.02m	13.08	(6)	12.41 DNS	(4) *	
#205 Girls U 9 Discus (500 Gram)				DIVS		
31 Kian Mirhandi - Male - Age: 10 - Comp#: #208 Boys U 10 Discus (500 Gram)	15.88m			15.25m	(0)	
#208 Boys U 10 Discus (300 Gram) #228 Boys U 10 Shot Put (2.0 Kg)	6.29m			5.71m	(9)	
				J./1m	(10)	
32 Ashmiga Nagulan - Female - Age: 9 - Com #225 Girls U 9 Shot Put (2.0 Kg)	-			2 26	(11)	
33 Searlan Palanickumaran - Male - Age: 10	3.47m			3.26m	(11)	
#56 Boys U 10 400 Metre Sprint	1:29.55			1:27.37	(17) *	
-				1.27.37	(17)	
34 Keetrah Pandian - Female - Age: 9 - Comp #205 Girls U 9 Discus (500 Gram)	10.50m			10.09m	(9)	
#205 Girls U 9 Shot Put (2.0 Kg)	3.39m			3.37m	(8) (10)	
#223 Girls 0 9 Shot Put (2.0 Kg) 35 Emmett Parsons - Male - Age: 9 - Comp#:				э.этш	(10)	
#36 Boys U 9 200 Metre Sprint	33.86	33.87	(9)			
#54 Boys U 9 400 Metre Sprint	1:17.86	33.67	(2)	1:20.00	(3)	
#100 Boys U 9 800 Metre Run	3:11.59			3:03.48	(3) *	
#174 Boys U 9 Long Jump	3.52m			3.43m	(6)	
36 Xavier Parsons - Male - Age: 11 - Comp#:				2.4341	(3)	
#58 Boys U 11 400 Metre Sprint	1:20.72			1:15.67	(10) *	
#104 Boys U 11 800 Metre Run	2:50.87			2:42.13	(3) *	
#118 Boys U 11 1500 Metre Run	5:52.13			5:27.07	(4) *	
#178 Boys U 11 Long Jump	3.50m			3.20m	(12)	
37 Prisha Patel - Female - Age: 12 - Comp#:					/	
#59 Girls U 12 400 Metre Sprint	1:26.59			1:17.13	(6) *	
#179 Girls U 12 Long Jump	3.20m			3.02m	(17)	
38 Rhitika Patel - Female - Age: 12 - Comp#:					. ,	
#105 Girls U 12 800 Metre Run	3:11.24			DNS		
#179 Girls U 12 Long Jump	3.60m			3.31m	(12)	
#191 Girls U 12 Triple Jump	7.80m			7.73m	(7)	
#231 Girls U 12 Shot Put (2.0 Kg)	5.53m			5.86m	(10) *	
39 Vedika Patel - Female - Age: 9 - Comp#: 4	1964					
#225 Girls U 9 Shot Put (2.0 Kg)	4.00m			2.93m	(15)	
40 Annisha Reader - Female - Age: 11 - Com	p#: 4989				_	
#189 Girls U 11 Triple Jump	7.07m			DNS		
#209 Girls U 11 Discus (500 Gram)	37.75m			37.74m	(1)	
Region: 23.35m State: 36.36m						
#229 Girls U 11 Shot Put (2.0 Kg)	9.15m			9.74m	(l) *	
#241 Girls U 11 Javelin (400 Gram)	21.50m			24.37m	(l) *	
Region: 22.34m						
41 Mikayla Robinson - Female - Age: 9 - Con	-					
#137 Girls U 9 700 Metre Walk	5:56.86			5:15.53	(5) *	
#225 Girls U 9 Shot Put (2.0 Kg)	3.12m			2.72m	(16)	
42 Sharani Sanjayan - Female - Age: 9 - Com	•				-	
#137 Girls U 9 700 Metre Walk	5:54.19			5:39.49	(7) *	
43 Sai Shailesh - Male - Age: 11 - Comp#: 49						
#104 Boys U 11 800 Metre Run	2:47.90			2:51.91	(11)	
#118 Boys U 11 1500 Metre Run	6:00.50			5:54.63	(10) *	
#158 Boys U 11 High Jump (S/H 1.10m)	1.15m			NH	40.	
#190 Boys U 11 Triple Jump	7.52m			7.62m	(6) *	
44 Rahavi Shanthkumr - Female - Age: 9 - C	-					
#71 Girls U 9 60 Metre Hurdles (45cm)	14.66	16.82	(22)			
45 Arpit Shenoy - Male - Age: 9 - Comp#: 49				-		
#54 Boys U 9 400 Metre Sprint	1:40.51			DNS	(12)	
#100 Boys U 9 800 Metre Run	3:38.52			3:50.60	(12)	

	Seed	Heats		Final		
rraween						
46 Nirvan Shrestha - Male - Age: 10 - Comp						
#74 Boys U 10 60 Metre Hurdles (60cm)	13.29	13.20	(10)			*
#208 Boys U 10 Discus (500 Gram)	18.62m			14.42m	(11)	
#228 Boys U 10 Shot Put (2.0 Kg)	$6.47 \mathbf{m}$			7.27m	(4)	*
47 Adrian Siciliano - Male - Age: 11 - Comp#	: 5026					
#210 Boys U 11 Discus (500 Gram)	16.65m			15.91m	(9)	
#230 Boys U 11 Shot Put (2.0 Kg)	7.15m			5.93m	(10)	
48 Imanni Sivaganesan - Female - Age: 12 - 0	Comp#: 5256					
#21 Girls U 12 100 Metre Sprint	15.65	15.50	(14)			*
#179 Girls U 12 Long Jump	3.80m			3.32m	(11)	
#191 Girls U 12 Triple Jump	7.23m			6.97m	(11)	
#231 Girls U 12 Shot Put (2.0 Kg)	6.08m			7.29m	(6)	*
49 Saswin Sivapragas - Male - Age: 9 - Comp	#: <b>491</b> 0					
#54 Boys U 9 400 Metre Sprint	1:36.86			1:29.31	(12)	*
#72 Boys U 9 60 Metre Hurdles (45cm)	13.00	13.95	(17)		. ,	
#174 Boys U 9 Long Jump	2.60m			2.79m	(15)	*
#206 Boys U 9 Discus (500 Gram)	7.80m			9.65m	(17)	
50 Maayon Sudarshan - Male - Age: 9 - Com	p#: 4933					
#8 Boys U 9 70 Metre Sprint	11.98	11.36	(7)	11.31	(5)	*
#16 Boys U 9 100 Metre Sprint	17.27	15.99	(6)	16.10		*
#36 Boys U 9 200 Metre Sprint	35.58	33.65	(7)	35.51	(8)	*
#174 Boys U 9 Long Jump	3.05m		.,	3.50m	(4)	
51 Sineth Thantirige - Male - Age: 9 - Comp						
#54 Boys U 9 400 Metre Sprint	1:21.47			DNS		
#100 Boys U 9 800 Metre Run	3:02.92			3:26.37	(9)	
#174 Boys U 9 Long Jump	2.96m			2.84m	(13)	
52 Kavin Tharmanesam - Male - Age: 11 - C				2.0121	(23)	
#40 Boys U 11 200 Metre Sprint	35.72	39.92	(10)			
#210 Boys U 11 Discus (500 Gram)	19.35m	37.72	(12)	22.99m	(5)	*
#230 Boys U 11 Shot Put (2.0 Kg)	9.25m			9.08m	(3)	
53 Keshika Tharnanesan - Female - Age: 9 -				J.00III	(2)	
#71 Girls U 9 60 Metre Hurdles (45cm)	14.87	14.19	(19)			*
#137 Girls U 9 700 Metre Walk	5:49.07	14.18	(10)	5:46.55	(11)	
#205 Girls U 9 Discus (500 Gram)	8.28m			6.57m		
-				0.57m	(14)	
54 Akshaya Thayanth - Female - Age: 9 - Co.	-	12.01	(15)			*
#71 Girls U 9 60 Metre Hurdles (45cm)	14.37	13.91	(13)			~
55 Alex Thuaux - Male - Age: 10 - Comp#: 49				14.64	(1.0)	
#208 Boys U 10 Discus (500 Gram)	13.89m			14.64m	(10)	•
#228 Boys U 10 Shot Put (2.0 Kg)	6.40m			5.32m	(14)	
56 Lucia Vasiliadis - Female - Age: 11 - Com						
#209 Girls U 11 Discus (500 Gram)	20.70m			22.36m	(5)	*
#229 Girls U 11 Shot Put (2.0 Kg)	6.89m			7.02m	(5)	*
57 Varuni Vimalan - Female - Age: 11 - Com	-					
#19 Girls U 11 100 Metre Sprint	15.47			15.61	(6)	
#75 Girls U 11 80 Metre Hurdles (60cm)	18.68	DNS				
#157 Girls U 11 High Jump (S/H 1.05m)	1.13m			DNS		
#189 Girls U 11 Triple Jump	7.47m			$6.80 \mathbf{m}$	(8)	
58 Caleb Williams - Male - Age: 9 - Comp#: -	4979					
#100 Boys U 9 800 Metre Run	3:21.44			3:16.56	(6)	*
#206 Boys U 9 Discus (500 Gram)	18.71m			21.23m	(4)	*
#226 Boys U 9 Shot Put (2.0 Kg)	6.49m			5.85m	(3)	

## LANSW State Championships

## Littles 20-21 March 2021 Youth 27-28 March 2021

## LITTLE ATHLETICS NSW LITTLES STATE TRACK & FIELD CHAMPIONSHIPS - 20/03/2021 to 21/03/2021 Sydney Olympic Park Athletic Centre

Meet Summary - All Events

	Heats	Final	
Girraween			
1 Adya Bushan - Male - Age: 10 - Comp#: 4908 #140 Boys U 10 1100 Metre Walk		6:51.18	(7)
2 Jack Byran - Male - Age: 11 - Comp#: 4923 #142 Boys U 11 1100 Metre Walk		7:23.58	(12)
3 Ruby Byran - Female - Age: 12 - Comp#: 4922 #143 Girls U 12 1500 Metre Walk		8:51.06	(10)
4 Ashleigh Farrugia - Female - Age: 11 - Comp#: 5029 #141 Girls U 11 1100 Metre Walk		6:00.31	(4)
5 Madison Gale - Female - Age: 12 - Comp#: 5084 #211 Girls U 12 Discus (750 Gram)		19.83m	(19)
6 Samuel Jackson - Male - Age: 9 - Comp#: 4936 #72 Boys U 9 60 Metre Hurdles (45 cm)	12.19 (22)		
7 Hitanshi Jain - Female - Age: 10 - Comp#: 4930			
#101 Girls U 10 800 Metre Run		2:56.87	(21)
8 Jasnoor Kaur - Female - Age: 9 - Comp#: 4902			
#137 Girls U 9 700 Metre Walk		4:21.94	(6)
9 Emily Kot - Female - Age: 11 - Comp#: 4948			
#57 Girls U 11 400 Metre Sprint		1:08.30	(10)
#103 Girls U 11 800 Metre Run		2:42.62	(15)
#157 Girls U 11 High Jump (S/H 1.10m)		1.15m	(11)
10 Madeline Kot - Female - Age: 10 - Comp#: 4949			
#139 Girls U 10 1100 Metre Walk		DQ	
11 Annisha Reader - Female - Age: 11 - Comp#: 4989			
#209 Girls U 11 Discus (500 Gram)		36.46m	(1)
#229 Girls U 11 Shot Put (2.0 Kg)		9.16m	(7)
#241 Girls U 11 Javelin (400 Gram)		21.97m	(2)
12 Kavin Tharmanesam - Male - Age: 11 - Comp#: 4917			
#230 Boys U 11 Shot Put (2.0 Kg)		9.25m	(9)
13 Caleb Williams - Male - Age: 9 - Comp#: 4979			
#206 Boys U 9 Discus (500 Gram)		18.76m	(11)

#### LITTLE ATHLETICS NSW

#### YOUTH STATE TRACK & FIELD CHAMPIONSHIPS - 27/03/2021 to 28/03/2021 Sydney Olympic Park Athletic Centre

#### Meet Summary - All Events

	Heats		Final	
Girraween				
1 Joel Byatt - Male - Age: 14 - Comp#: 5037				
#148 Boys U 14 1500 Metre Walk			7:32.08	(3)
2 Laelia Byatt - Female - Age: 15 - Comp#: 5062				
#149 Girls U 15 1500 Metre Walk			DQ	
3 Cristobal Corvalan Sotomayor - Male - Age: 17 - Comp#: 4996				
#252 Boys U 17 Javelin (700 Gram)			39.40m	(16)
4 Laura Corvalan Sotomayor - Female - Age: 13 - Comp#: 4997				
#145 Girls U 13 1500 Metre Walk			9:13.43	(7)
5 Sumeet Dasgupta - Male - Age: 15 - Comp#: 4966				
#112 Boys U 15 800 Metre Run			2:16.23	(11)
#186 Boys U 15 Long Jump			4.79m	(18)
#198 Boys U 15 Triple Jump			10.34m	(20)
6 Risa Dhinakaran - Female - Age: 14 - Comp#: 5146				
#163 Girls U 14 High Jump (S/H 1.30m)			1.30m	(17)
7 Chloe Grogan - Female - Age: 13 - Comp#: 4895				
#129 Girls U 13 3000 Metre Run			12:28.99	(12)
8 Hannah Hamilton - Female - Age: 17 - Comp#: 4903				
#127 Girls U 17 1500 Metre Run			5:31.63	(10)
9 Pranshav Shah - Male - Age: 17 - Comp#: 5182				
#136 Boys U 17 3000 Metre Run			DNF	
10 Daniel Sheehan - Male - Age: 15 - Comp#: 5012				
#112 Boys U 15 800 Metre Run			2:20.04	(15)
#126 Boys U 15 1500 Metre Run			4:50.15	(11)
#134 Boys U 15 3000 Metre Run			11:12.97	(8)
11 Neelesh Shrestha - Male - Age: 15 - Comp#: 4971				
#84 Boys U 15 100 Metre Hurdles (76 cm)	14.59	(7)	14.82	(5)
#92 Boys U 15 300 Metre Hurdles (76 cm)			45.39	(11)
#186 Boys U 15 Long Jump			DNS	
12 Rishit Singh - Male - Age: 13 - Comp#: 5193				
#24 Boys U 13 100 Metre Sprint	12.84	(12)		
#44 Boys U 13 200 Metre Sprint	25.95	(6)	26.56	(6)
13 Kajanan Srisivaeaswaran - Male - Age: 15 - Comp#: 4941				
#186 Boys U 15 Long Jump			DNS	
#218 Boys U 15 Discus (1.0 Kg)			39.30m	(14)
#238 Boys U 15 Shot Put (4.0 Kg)			11.08m	(13)
#250 Boys U 15 Javelin (700 Gram)			28.72m	(17)
14 Vithussa Srisivaeaswaran - Female - Age: 17 - Comp#: 4940				
#187 Girls U 17 Long Jump			DNS	
#199 Girls U 17 Triple Jump			DNS	
15 Avilash Tharmanesan - Male - Age: 15 - Comp#: 4916				
#218 Boys U 15 Discus (1.0 Kg)			35.46m	(16)
#238 Boys U 15 Shot Put (4.0 Kg)			12.57m	(6)
16 Breeanna Williams - Female - Age: 13 - Comp#: 4978				
#213 Girls U 13 Discus (750 Gram)			24.57m	(16)
#233 Girls U 13 Shot Put (3.0 Kg)			7.44m	(24)
17 Jessie Wong - Female - Age: 17 - Comp#: 5083				
#29 Girls U 17 100 Metre Sprint	12.72	(5)	12.79	(8)
#49 Girls U 17 200 Metre Sprint	DNS	(0)		(0)
#85 Girls U 17 100 Metre Hurdles (76 cm)	15.16	(6)	14.95	(6)
#93 Girls U 17 300 Metre Hurdles (76 cm)			46.44	(6)

#### Centre Awards

Congratulations to all of our athletes who achieved great results this year whether in representative competition or against your own personal best results.

## Peter Casey Shield (Under 6 -12 Overall Points Winner)

The Peter Casey Shield is awarded to the athlete who has the highest merit points in the under 6 to under 12 age groups. In fairness to all age groups it is calculated by percentage due to the different number of events.

The winner of the Peter Casey Shield in 2020/2021 Jordon Curmi U8B



## John Wheeler Memorial Award (Under 13-17 Overall Points Winner)

The John Wheeler Memorial Award is presented to the athlete who has the highest merit points in the under 13 to under 17 age groups.

The winner of the John Wheeler Memorial Award this season is Katherine Farrugia U13G





## **Age Managers award**

Each age manager is able to nominate an athlete in their age group that shows qualities of athletes being their best. They do not have to be the most skilled athlete, but they show true sportsmanship. The recipients for this year's junior boy and junior girl are:

(U6-U11G) Junior Girl Saivi Sharma

(U6-U11B) Junior Boy Fermanagh Gill and Adesh Balendra (U6)

The senior boy and senior girls recipients are:

(U12-U176) Senior Girl Hannah Hamilton



(U12-U17B) Senior Boy Aidan O'Brien



#### Coaches' encouragement award

The coach's encouragement award is for athletes who attend and participate in all aspects of coaching throughout the season. The criteria was

- 1. Attend coaching regularly.
- 2. Obey all instructions given to them
- 3. Apply themselves with good positive attitude
- 4. Never cause problems with other athletes.
- 5. Complete their own warm ups.
- 6. Awarded to not necessarily the best performing, but the most deserving athlete.

This year the successful athlete is-Phalguni Goyal U11G

### **Ground Records (medals)**

Medals are presented to athletes for each ground record equalled or bettered during each season.

6 records were broken during the 2020/2021 season. The recipients of medals are:

Hannah Hamilton 17G - 1500 5:42.47

Annisha Reader 11G - Javelin 23.60; Multi 4530; Discus 37.75.

Emily Kot 11G - 80m Hurdles 16.17

Sai Sravan Shailesh 11B - Multi 3970

# LANSW State Track and Field Championships

Each season we recognise those who represent our Centre at the LANSW State championships. Due to the outbreak of COVID-19 there was no state championships held this year. In recognition of qualifying from Region to State the following athletes are presented with a plaque and state shirt.

This year we had 30 State qualifiers.

#### Littles U9-U12

Adya Bushan	U10B	1100 M Walk
Jack Bryan	U11B	1100m Walk
Ruby Bryan	U12G	1500m Walk
Ashleigh Farrugia	U11G	1100m Walk
Madison Gale	U12G	Discus
Samuel Jackson	U9B	60m Hurdles
Hitanshi Jain	U10G	800m
Jasnoor Kaur	U9G	700m Walk
Emily Kot	U11G	400m; High Jump; 800m
Madeline Kot	U10G	1100m Walk
Annisha Reader	U11G	Shot Put; Discus; Javelin
Kavin Tharmanesam	11B	Shot Put
Caleb Williams	U9B	Discus

#### **Youth U13-U17**

Joel Byatt	U14B	1500m Walk
Laelia Byatt	U15G	1500m Walk
Cristobel Corvalan Sotomayor	U17B	Javelin
Laura Corvalan Sotomayor	U13G	1500m Walk
Sumeet Dasgupta	U15G	800m, Long Jump, Triple Jump
Risa Dhinakaran	U14G	High Jump
Chloe Grogan	U13G	3000m
Hannah Hamilton	U17G	1500m
Pranshav Shah	U17B	3000m
Daniel Sheehan	U15	800m, 1500m, 3000m
Neelash Shrestha	U15B	100m H, 300m H, Long Jump
Rishit Singh	U13B	100m, 200m
Kajanan Srisivaeaswaran	U15B	Long Jump, Discus, Shot Put, Javelin
Vithussa Srisivaeaswaran	U17G	Long Jump, Triple Jump
Avilash Tharmanesan	U15B	Discus, Shot Put
Breeanna Williams	U13G	Discus, Shot Put
Jessie Wong	U17G	100m, 200m, 100m H,300m H

#### Peter Herlinger Award

Peter Herlinger is a former Councillor of Holroyd City Council and long term Patron of the Girraween Little Athletics Centre.

The Peter Herlinger Award is presented to the athlete/s with the best performance representing Girraween at State level.

This year the recipient is:

**Annisha Reader** who came 1st in the Under 11 Girls Discus and Second in Javelin Also, the current state record holder in U11 Girls Discus



#### Anne Levett Volunteers Award

The Anne Levett Volunteer Award was presented to the Centre during the 2002/2003 season by the Under 15 Boys and Girls in memory of Anne Levett, who passed away in 2002 after a battle with cancer. The award is a perpetual trophy retained by the winner for 12 months. The winner receives a silver clock to keep. Anne and her family provided outstanding service to our Centre over many years. The Anne Levett Volunteer Award is presented annually to the most outstanding volunteer for the season.

Members are given the opportunity to nominate any person (except committee and life members) who they feel deserves recognition for their voluntary contribution to our Centre.

The Executive Committee use an established scoring system to rate each nominee based upon the following four criteria:

- Demonstrated commitment by free giving of time
- Setting an example that encourages, motivates and involves others
- Offering encouragement and support to all
- Being a quiet achiever.

The nominee with the highest aggregate score is awarded the Anne Levett Volunteers Award. The recipient of the Anne Levett Volunteer Award for the 2020/2021 season:

#### **Belinda Bryan**

#### Attendance - 100 percent at weekly competitions

Each year athletes in the under 6's and above who attend 100 percent of weekly competitions are awarded a certificate.

Himansh Bayawat

Avleen kaur Dhillon

Ashleigh Farrugia

Chloe Farrugia

Katherine Farrugia

Furmaan Gill

Chloe Grogan

Elliana Henderson

Jasnoor Kaur

**Emily Kot** 

Madeline Kot

Rafael Mokamba

KEETRAH PANDIAN

RITHVI PANDIAN

Harini Paranthaman

Annisha Reader

Joshua Reader

Mikayla Robinson

Sai Sraddha Shailesh

Sai Sravan Shailesh

Aalayah Sudarshan

Maayon Sudarshan

Louis Sultana

### Season Point Score - Age Group Medals

During the season our athletes receive one merit point for each event they compete in at our weekly Centre competitions and Centre Championships.

They also receive one bonus point for each personal best they achieve. After Christmas points are doubled.

Athletes can also receive 10 bonus points for representing the club at the Holroyd Shield the Great Western Challenge and Garth Robinson.

The highest three-point scorers in each age group receive recognition of their achievement. Age groups with greater than 30 athletes are also presented with  $4^{th}$ ,  $5^{th}$  &  $6^{th}$  medals.

	Girls		Boys
1 <sup>s†</sup>	Leah Kot	1 <sup>s†</sup>	Toviyah Plassan
2 <sup>nd</sup>	Kishani Sanjayan	2 <sup>nd</sup>	Dheeran Vijithan
3 <sup>rd</sup>	Sharmayah Peragahanraj	3 <sup>rd</sup>	Aryan Deepak
		4 <sup>th</sup>	Aadesh Balendra
		5 <sup>th</sup>	Arjun Thuvaragan
		6 <sup>th</sup>	Dhilan Bakeerathan

	Girls		Boys	
1 <sup>st</sup>	Rithvi Pandian	1 <sup>st</sup>	Louis Sultana	
2 <sup>nd</sup>	Sampurna Chakraborty	2 <sup>nd</sup>	Himansh Bayawat	
3 <sup>rd</sup>	Deaisu Surendrakumar	3 <sup>rd</sup>	Jordan Liu	
4 <sup>th</sup>	Naomi Vinothan	4 <sup>th</sup>	Oliver Pearce	
5 <sup>th</sup>	Ahana Acharya	5 <sup>th</sup>	Christian Berville	
6th	Durga Maiyoouran	6 <sup>th</sup>	Connor Mackie	

	Girls		Boys	
1 <sup>st</sup>	Aalayah Sudarshan	1 <sup>st</sup>	Jordon Curmi	
2 <sup>nd</sup>	Sai Sraddha Shaileesh	2 <sup>nd</sup>	Joshua Reader	
3 <sup>rd</sup>	Chloe Farrugia	3 <sup>rd</sup>	Rafael Mokamba	
		4 <sup>th</sup>	Neev Faldu	
		5 <sup>th</sup>	Avyukt Rao	
		6 <sup>th</sup>	Hugo Siciliano	

	Girls		Boys	
1 <sup>st</sup>	Mikayla Robinson	1 <sup>st</sup>	Maayon Sudarshan	
2 <sup>nd</sup>	Jasnoor Kaur	2 <sup>nd</sup>	Lachlan Pearce	
3 <sup>rd</sup>	Akshaya Thayananth	3 <sup>rd</sup>	Joseph Curmi	
4 <sup>th</sup>	Charitha Gulla	4 <sup>th</sup>	Vithun Sharmilan	
5 <sup>th</sup>	Rosemary Zammit	5 <sup>th</sup>	Saswin Sivapragas	
6 <sup>th</sup>	Sharani Sanjayan	6 <sup>th</sup>	Kenji Browne	
6th	Keshika Tharmanesan (equal 6 <sup>th</sup> place)			

# Under 10

	Girls		Boys
1 <sup>s†</sup>	Madeline Kot	1 <sup>s†</sup>	Searalan Palanickumaran
2 <sup>nd</sup>	Hitanshi Jain	2 <sup>nd</sup>	Nirosh Kanapathy Pillai
3 <sup>rd</sup>	Bhavya Sri Pagadala	3 <sup>rd</sup>	Harris Suntharesan
		3rd	Alexander Thuaux (equal 3 <sup>rd</sup> place)

	Girls		Boys
1 <sup>st</sup>	Ashleigh Farrugia	1 <sup>st</sup>	Sai Sravan Shailesh
2 <sup>nd</sup>	Emily Kot	2 <sup>nd</sup>	Jack Bryan
3 <sup>rd</sup>	Avleen kaur Dhillon	3 <sup>rd</sup>	Adrian Siciliano
4th	Annisha Reader	3 <sup>rd</sup>	Josiah Jackson
5 <sup>th</sup>	Phalguni Goyal		
6 <sup>th</sup>	Lucia Vasiliadis		

	Girls		Boys
1 <sup>st</sup>	Elliana Henderson	1 <sup>st</sup>	Shrey Godla
2 <sup>nd</sup>	Kashika Muhunthan	2 <sup>nd</sup>	Maximilian Okorovik
3 <sup>rd</sup>	Madison Gale	3 <sup>rd</sup>	Mohamed Alameddine
3rd	Ruby Bryan		

## Under 13

	Girls		Boys
1 <sup>st</sup>	Katherine Farrugia	1 <sup>s†</sup>	Thirushaanth Tharmendran
2 <sup>nd</sup>	Chloe Grogan	2 <sup>nd</sup>	
3 <sup>rd</sup>	Sukanya Dasgupta	3 <sup>rd</sup>	

	Girls		Boys
1 <sup>st</sup>	Risa Dhinakaran	1 <sup>s†</sup>	Aidan O'Brien
2 <sup>nd</sup>	Alyssa Yousif	2 <sup>nd</sup>	Cooper McLachlan
3 <sup>rd</sup>	Umika Ganji	3 <sup>rd</sup>	Joel Byatt

Girls			Boys		
1 <sup>s†</sup>	Laelia Byatt	1 <sup>s†</sup>	Liam Hamilton		
2 <sup>nd</sup>	Chloe Bingham	2 <sup>nd</sup>	Avilash Tharmanesan		
3rd	Anvesha Bhushan	3rd	Sumeet Dasgupta		

#### Under 17

	Girls		Boys
1 <sup>s†</sup>	Harini Paranthaman	1 <sup>st</sup>	Regan Soballa
2 <sup>nd</sup>	Hannah Hamilton	2 <sup>nd</sup>	
3 <sup>rd</sup>	Jessica O'Brien	3 <sup>rd</sup>	

## Under 17's graduation

A plaque is awarded to our long serving U17 athletes in recognition of their graduation from Girraween Little Athletics.

Hannah Hamilton

Vithussa Srisivaeaswaran

Regan Soballa

Jessie Wong

Jessica O'Brien

Lojana Vijeyaratnam

# GIRRAWEEN LITTLE ATHLETICS CENTRE GROUND RECORDS AT THE END OF 2019/2020 SEASON BY EVENT

		STRAIG	HT TR	ACK		
•	60H GIRLS				H BOYS	
Hanna K	12.1	04/05	U8	King S	10.9	93/94
Deane G	11.1	88/89	U9	Benson S	10.8	95/96
Cirjak A	11.4	01/02	<b>U10</b>	Sillince D	10.6	93/94
Cubis K	10.6	04/05	<b>U11</b>	Sillince D	10.3	94/95
O'Neill S	10.2	96/97	<b>U12</b>	Weyland T	10.1	00/01
		,		3		,
8	80H GIRLS			80	H BOYS	
Kot E	16.17	20/21				
Henderson E	19.16	19/20	<b>U11</b>	Alameddine M	17.27	19/20
Williams B	18.45	19/20	<b>U12</b>	Williams A	19.58	19/20
Piotrowski A	13.5	96/97	U13	Weyland T	13.7	01/02
Piotrowski A	13.0	97/98	U14	N/A		
9	90H GIRLS			90	н вочѕ	
N/A			<b>U14</b>	Manwaring T	13.5	98/99
				Cauchi M	13.5	89/90
Piotrowski A	14.0	98/99	U15	N/A		
N/A			<b>U17</b>	N/A		
1	00H GIRLS			100	он вочѕ	
N/A			U15	Wong F	14.4	98/99
/				Burbage I	14.4	98/99
Norton R	16.60	11/12*	<b>U17</b>	24134601	2	20/22
Wong J	17.01	19/20	01.			
Wongo	17.01	15/20		110	OH BOYS	
N/A			<b>U17</b>	Nagle D	15.91	16/17
	50 GIRLS			50	O BOYS	
Thurlow C	9.1	05/06	<b>U7</b>	Perrott J	9.0	04/05
Thurlow C	9.1	03/00	07	remon J	9.0	04/03
	70 GIRLS			70	O BOYS	
Kropman C	12.0	77/78	<b>U7</b>	Sultana J	11.8	77/78
Kropman C	11.2	78/79	U8	Gill I	10.6	75/76
				Mavin M	10.6	75/76
Thurlow C	10.9	07/08	U9	Stellino P	10.7	95/96
Thurlow C	10.3	08/09	<b>U10</b>	Bonanno C	10.2	01/02
	100 GIRLS			10	00 BOYS	
Thurlow C	17.4	05/06	<b>U7</b>	Carr N	16.8	82/83
Wilcockson J	15.8	73/74	U8	Perrott J	16.0	05/06
Thurlow C	15.2	07/08	U9	Sillince D	14.5	92/93
Gatley L	14.9	00/01	<b>U10</b>	Sillince D	13.9	93/94
Thurlow C	14.9	08/09				•
French K	14.3	97/98	U11	Mohan A	13.7	06/07
Saliba L	13.9	88/89	<b>U12</b>	Gill I	13.3	79/80
		,		Massanga J	13.3	09/10
Borg C	13.1	91/92	U13	Hanna J	12.5	06/07
Deana R	12.5	92/93	<b>U14</b>	Cauuchi M	12.0	89/90
	-	,		Ryan D	12.0	95/96
Deane R	12.8	93/94	U15	Correy-Yorke L	11.9	03/04
Norton R	12.9	11/12*	U17	Barton T	12.21	17/18
Wong J	13.56	19/20				,
O		,				

		CIRCU	LAR TRA	ACK		
200	H GIRLS			20	OH BOYS	
O'Neill E	32.5	94/95	U13	Perrott J	30.0	10/11
Deane R	31.6	92/93	U14	Scully A	28.4	99/00
Deane R	31.2	93/94	U15	Scully A	28.0	00/01
Norton R	33.0	11/12*	U17	Jobson L	26.8	13/14
300	H GIRLS			30	он вочѕ	
Wong J	47.98	18/19	U15	Elkin D	48.31	17/18
Wong J	48.78	19/20	U17	Flucker E	43.57	19/20
200	GIRLS			20	00 BOYS	
Saliba L	38.0	83/84	<b>U7</b>	Jani S	35.0	80/81
Phillips N	34.0	79/80	U8	Zelasko P	34.5	82/83
Hemmerling L	33.5	77/78	U9	Perrott J	32.0	06/07
Wheeler T	31.6	76/77	<b>U10</b>	Perrott J	30.2	07/08
Saliba L	30.4	87/88	U11	Sillince D	28.2	94/95
Wong J	29.18	15/16	U12	Gill I	28.2	79/80
S		•		Perrott J	28.2	09/10
Burgess E	29.1	08/09	U13	Hanna J	26.8	06/07
Deane R	28.3	92/93	<b>U14</b>	Losco D	24.9	86/87
Wong J	26.96	18/19	U15	Losco D	25.0	87/88
Norton R	26.6	11/12*	<b>U17</b>	Nagle D	24.36	15/16
Thurlow C	30.61	15/16		3		,
400	O GIRLS			40	00 BOYS	
Ogden M	1-17.4	87/88	U8	McKenzie R	1-15.3	78/79
Kropman J	1-13.5	84/85	U9	Griffin G	1-12.7	83/84
Hately M	1-11.3	78/79	<b>U10</b>	Manwaring N	1-08.6	84/85
Hately M	1-08.1	79/80	U11	Ivins K	1-06.0	74/75
Hately M	1-05.7	80/81	U12	Perrott J	1-02.3	09/10
French K	1-04.6	99,00	U13	Hanna J	59.6	06/07
Wong J	1-03.68	17/18	U14	Scully A	58.8	99/00
Saunderson D	1-03.3	00/01	U15	Scully A	56.9	00/01
Norton R	1-04.5	11/12*	<b>U17</b>	Nagle D	56.25	16/17
Srisivaeaswaran V	1-05.47	19/20		G		,
PACK (	490) GIRLS			PACK	(490) BOYS	
Reed S	1-50.2	88/89	U7	Perrott J	1-47.14	04/05
PACK (	500) GIRLS			PACK	(500) BOYS	
Farrugia A	1-59.89	17/18	U7			
	700) GIRLS				(700) BOYS	
Reed S	2-34.7	89/90	U8	Tame M	2-28.9	90/91
	GIRLS				OO BOYS	
Kropman C	2-48.3	79/80	U9	McKenzie R	2-30.3	79/80
Hately M	2-37.2	78/79	<b>U10</b>	Dempsey G	2-33.6	84/85
Hately M	2-33.6	79/80	U11	Taylor G	2-25.4	80/81
Hately M	2-27.3	80/81	U12	Perrott J	2-23.2	09/10
French K	2-25.4	99/00	U13	Charlwood A	2-21.2	83/84
French K	2-24.8	00/01	<b>U14</b>	Baraniak A	2-12.5	88/89
Ward K	2-26.9	89/90	U15	Baraniak A	2-08.9	89/90
Srisivaeaswaran V	2-44.73	19/20	U17	Flucker E	2-09.50	19/20

~			~ ~
CIRCIII	ΔP′	TDACK	CONTINUED
CHICUL			CONTINUED

	CII	RCULAR T	RACK CO	ONTINUED		
1	500 GIRLS				500 BOYS	
Hately M	5-23.5	78/79	U10	Dempsey G	5-08.9	84/85
Hately M	5-06.8	79 <sup>′</sup> /80	U11	Taylor G	4-58.0	80/81
Hately M	5-03.0	80/81	U12	Dubber S	5-00.0	74/75
French K	4-55.0	99/00	U13	Charlwood A	4-51.4	83/84
French K	4-55.2	00/01	U14	Baraniak A	4-31.3	88/89
Ward K	5-09.2	89/90	U15	Baraniak A	4-22.8	89/90
Hamilton H	5-54.04	19/20	<b>U17</b>	Redipali N	4-39.61	17/18
Hamilton H	5-42.47	20/21	<b>U17</b>			
3	000 GIRLS			30	000 BOYS	
French K	11-01.9	99/00	U13	Schmid N	10-32.6	90/91
French K	10-56.9	00/01	U14	Fitton S	10-35.7	99/00
Ward K	11-43.6	89/90	U15	Baraniak A	9-33.7	89/90
Busic A	14-02.78	17/18	U17	Jobson L	11-21.6	12/13*
7	00W GIRLS			70	OW BOYS	
Hinwood M	4-17.4	96/97	U9	Tisdale B	3-59.5	08/09
Tisdale L	3-52.7	11/12*				,
11	100W GIRLS			110	00W BOYS	
Perrott A	5-53.3	04/05	U10	Tisdale B	5-46.0	09/10
Tisdale L	5-50.3	12/13*	010	Tibaare B	0 10.0	05/10
Tisdale L	5-53.89	13/14	<b>U11</b>	Tisdale B	5-35.7	10/11
1 5	500W GIRLS			15	00W BOYS	
Clarke T	7-30.7	77/78	U12	Leslie A	7-23.0	82/83
Grant L	7-30.7 7-07.9	97/98	U13	Leslie A	7-23.0	83/84
Grant L	7-07.9	98/99	U14	Tisdale B	7-13.0	13/14
Grant L	7-01.3 7-00.5	98/99	U15	Levett W	7-21.64 7-11.3	97/98
Tisdale L	8-30.0	18/19	U17	Jobson L	6-54.8	13/14
Houate L	0-30.0	10/19	017	OODSOII L	0-34.0	13/14

FIELD 1	<b>EVENTS</b>
---------	---------------

LONG JU	MP GIRLS			LONG	JUMP BOY	S	
Phillips N	3.25	78/79	<b>U7</b>	Carr N	3.30	82/83	
Phillips N	3.63	79/80	U8	Micallef J	3.60	77/78	
				Carr N	3.60	83/84	
Manson N	4.11	79/80	U9	Presotto M	4.06	82/83	
Hall F	4.15	79/80	<b>U10</b>	Manwaring N	4.55	84/85	
Norquay J	4.49	81/82	U11	Hayes G	4.70	87/88	
Wong J	4.90	15/16	<b>U12</b>	Perrott J	4.94	09/10	
Srisivaeaswaran V	4.87	16/17	U13	Correy-Yorke L	5.38	01/02	
Wong J	5.09	17/18	<b>U14</b>	Correy-Yorke L	5.66	02/03	
Wong J	5.38	18/19	U15	Norton T	5.96	13/14	
Wong J	5.12	19/20	U17	Nagle D	6.22	16/17	
TRIPLE J	UMP GIRLS	<b>;</b>		TRIPLE	JUMP BOY	rs	
French K	9.25	97/98	U11	Manwaring N	9.75	85/86	
Saliba L	9.61	88/89	<b>U12</b>	Bahlawan S	10.12	09/10	
Wong J	10.16	16/17	U13	Prasetya B	11.00	82/83	
Wong J	10.68	17/18	U14	Correy-Yorke B	11.20	00/01	
Wong J	10.95	18/19	U15	Burbage I	11.91	98/99	
Wong J	10.55	19/20	<b>U17</b>	Nagle D	12.56	16/17	

# FIELD EVENTS CONTINUED HIGH .IIIMP BOYS

HIGH JUMP GIRLS					HIGH JUMP BOYS			
BENCHMARK	1.05		17/18	U9S	Dunn S	1.00	1	9/20
Kropman J	1.17		84/85	U9	Benson S	1.22		95/96
Kot E	1.15		17/18	<b>U10S</b>	Hamilton R	1.15	1	19/20
Briggs M	1.31		90/91	<b>U10</b>	Benson S	1.33		96/97
Briggs M	1.37		91/92	U11	Saliba C	1.42	8	34/85
Norquay J	1.50		82/83	U12	Gill I	1.56	7	79/80
Fisher J	1.50		94/95					
Fisher J	1.50		95/96	U13	Nimac I	1.55		99/00
					Hanna J	1.55		06/07
Fisher J	1.64		96/97	U14	Ferguson J	1.62		06/07
Fisher J	1.55		97/98	U15	Wong F	1.78	ç	98/99
Busic A	1.48		17/18	<b>U17</b>	Beasley L	1.60	1	13/14
					Nagle D	1.70	1	15/16
SHUT.	PUT GII	DI C			SHO	r put b	ove	
Kidd D	1.0kg	7.05	82/83	<b>U7</b>	McIlwaine A	1.0kg	8.79	79/80
Hinwood M	1.5kg	6.04	95/96	U8	Benson S	1.5kg	8.86	94/95
Avellino N	2.0kg	7.74	79/80	U9	Benson S	2.0kg	9.15	95/96
Avellino N	2.0kg	9.47	80/81	U10	Benson S	2.0kg	10.32	96/97
Avellino N	2.0kg	10.83	81/82	U11	Benson S	2.0kg	10.52	97/98
Neich T	2.0kg	11.94	14/15	U12	McIlwaine A	3.0kg	11.46	84/85
Avellino N	3.0kg	11.75	83/84	U13	McIlwaine A	3.0kg	13.88	85/86
Neich T	3.0kg	11.73	16/17	U14	Neich B	3.0kg	13.86	14/15
Neich T	3.0kg	13.21	17/18	U15	McIlwaine A	4.0kg	15.94	87/88
Neich T	3.0kg	12.72	18/19	U17	Neich B	5.0kg	13.07	17/18
TTOTOTI I	o.ong	12.72	10/15	01.	Telefi B	0.0118	10.07	17,10
	CUS GIR				DIS	CUS BO		
Anschau H	350g	15.44	94/95	<b>U7</b>	Benson S	350g	20.00	93/94
Avellino N	500g	20.78	78/79	U8	Benson S	500g	25.30	94/95
								78/79
Avellino N	500g	27.60	79/80	U9	Micallef J	500g	28.84	
Avellino N Reader A	500g 500g	27.60 32.90	19/20	U10	Micallef J Somasundaram R	500g 500g	28.84 35.89	14/15
Reader A Andrew G	500g 500g 500g	27.60 32.90 22.99	19/20 19/20	U10 U11	Micallef J	500g	28.84	
Reader A Andrew G Reader A	500g 500g 500g 500g	27.60 32.90 22.99 37.75	19/20 19/20 20/21	U10 U11 U11	Micallef J Somasundaram R Gill J	500g 500g 500g	28.84 35.89 32.59	14/15 18/19
Reader A Andrew G Reader A Clarke S	500g 500g 500g 500g 750g	27.60 32.90 22.99 37.75 39.88	19/20 19/20 20/21 79/80	U10 U11 U11 U12	Micallef J Somasundaram R Gill J McIlwaine A	500g 500g 500g 750g	28.84 35.89 32.59 39.10	14/15 18/19 84/85
Reader A Andrew G Reader A Clarke S Reader T	500g 500g 500g 500g 750g 750g	27.60 32.90 22.99 37.75 39.88 36.77	19/20 19/20 20/21 79/80 19/20	U10 U11 U11 U12 U13	Micallef J Somasundaram R Gill J McIlwaine A Tharmanesan A	500g 500g 500g 750g 750g	28.84 35.89 32.59 39.10 32.2	14/15 18/19 84/85 18/19
Reader A Andrew G Reader A Clarke S Reader T Neich T	500g 500g 500g 500g 750g 750g 1.0kg	27.60 32.90 22.99 37.75 39.88 36.77 30.17	19/20 19/20 20/21 79/80 19/20 16/17	U10 U11 U11 U12 U13 U14	Micallef J Somasundaram R Gill J McIlwaine A Tharmanesan A McIlwaine A	500g 500g 500g 750g 750g 1.0kg	28.84 35.89 32.59 39.10 32.2 45.70	14/15 18/19 84/85 18/19 86/87
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04	19/20 19/20 20/21 79/80 19/20 16/17 17/18	U10 U11 U11 U12 U13 U14 U15	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A	500g 500g 500g 750g 750g 1.0kg 1.0kg	28.84 35.89 32.59 39.10 32.2 45.70 47.92	14/15 18/19 84/85 18/19 86/87 87/88
Reader A Andrew G Reader A Clarke S Reader T Neich T	500g 500g 500g 500g 750g 750g 1.0kg	27.60 32.90 22.99 37.75 39.88 36.77 30.17	19/20 19/20 20/21 79/80 19/20 16/17	U10 U11 U11 U12 U13 U14	Micallef J Somasundaram R Gill J McIlwaine A Tharmanesan A McIlwaine A	500g 500g 500g 750g 750g 1.0kg	28.84 35.89 32.59 39.10 32.2 45.70	14/15 18/19 84/85 18/19 86/87
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18	19/20 19/20 20/21 79/80 19/20 16/17 17/18	U10 U11 U11 U12 U13 U14 U15	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B	500g 500g 500g 750g 750g 1.0kg 1.5kg	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14	14/15 18/19 84/85 18/19 86/87 87/88
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20	U10 U11 U11 U12 U13 U14 U15	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B	500g 500g 500g 750g 750g 1.0kg 1.5kg	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14	14/15 18/19 84/85 18/19 86/87 87/88 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Neich T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20	U10 U11 U11 U12 U13 U14 U15 U17	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B  JAV	500g 500g 500g 750g 750g 1.0kg 1.5kg	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>PYS</b> 14.05	14/15 18/19 84/85 18/19 86/87 87/88 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Neich T Reader T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 400g 400g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 14.90 18.80	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20	U10 U11 U11 U12 U13 U14 U15 U17	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B	500g 500g 500g 750g 750g 1.0kg 1.5kg	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14	14/15 18/19 84/85 18/19 86/87 87/88 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Neich T Reader T Reader T Reader T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg 4.0kg 400g 400g 400g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 2LS 14.90 18.80 23.60	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21	U10 U11 U11 U12 U13 U14 U15 U17	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B  JAV Gill J Corvalan C	500g 500g 500g 750g 750g 1.0kg 1.5kg <b>ELIN BC</b> 400g 400g	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>DYS</b> 14.05 29.00	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Neich T Reader T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg 4.0kg 400g 400g 400g 400g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 2LS 14.90 18.80 23.60 26.06	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21 99/00	U10 U11 U11 U12 U13 U14 U15 U17	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Solution B  JAV Gill J Corvalan C  Neich B	500g 500g 500g 750g 750g 1.0kg 1.5kg	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>PYS</b> 14.05 29.00 35.10	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Reader T Reader T Reader T Reader A Ward J	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg 4.0kg 400g 400g 400g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 21.8 14.90 18.80 23.60 26.06 33.29	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21 99/00 12/13*	U10 U11 U12 U13 U14 U15 U17  U11 U12 U11 U12	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B  JAV Gill J Corvalan C	500g 500g 500g 750g 750g 1.0kg 1.5kg <b>ELIN BC</b> 400g 400g	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>DYS</b> 14.05 29.00	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Reader T Reader T Reader T Reader A Ward J Thurlow C	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg 4.00g 400g 400g 400g 400g 400g 400g 40	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 21.8 14.90 18.80 23.60 26.06 33.29 23.52	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21 99/00 12/13* 15/16	U10 U11 U12 U13 U14 U15 U17  U11 U12 U11 U12	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Solution B  JAV Gill J Corvalan C  Neich B	500g 500g 500g 750g 750g 1.0kg 1.5kg <b>ELIN BC</b> 400g 400g	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>PYS</b> 14.05 29.00 35.10	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Neich T Veich T Neich T Neich T Neich T Neich T Neich T Neich T	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 4.0kg 400g 400g 400g 400g 400g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 21.8 14.90 18.80 23.60 26.06 33.29	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21 99/00 12/13* 15/16 00/01	U10 U11 U12 U13 U14 U15 U17  U11 U12 U11 U12	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Solution B  JAV Gill J Corvalan C  Neich B	500g 500g 500g 750g 750g 1.0kg 1.5kg <b>ELIN BC</b> 400g 400g	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>PYS</b> 14.05 29.00 35.10	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18 13/14 98/99
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T  Reader T Reader T Reader T Reader A Ward J Thurlow C Somasundaram H Ward J	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg 4.00g 400g 400g 400g 400g 400g 400g 600g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 14.90 18.80 23.60 26.06 33.29 23.52 21.56	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21 99/00 12/13* 15/16	U10 U11 U12 U13 U14 U15 U17  U11 U12 U11 U12 U11	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine B  JAV Gill J Corvalan C  Neich B Manwaring T	500g 500g 500g 750g 750g 1.0kg 1.5kg <b>ELIN BC</b> 400g 400g 600g 600g	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>DYS</b> 14.05 29.00 35.10 38.23	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18
Reader A Andrew G Reader A Clarke S Reader T Neich T Neich T Neich T Neich T  Reader T Reader T Reader T Reader A Ward J Thurlow C Somasundaram H Ward J Thurlow C	500g 500g 500g 500g 750g 750g 1.0kg 1.0kg 1.0kg 400g 400g 400g 400g 400g 400g 600g 500g	27.60 32.90 22.99 37.75 39.88 36.77 30.17 35.04 36.18 14.90 18.80 23.60 26.06 33.29 23.52 21.56 31.99	19/20 19/20 20/21 79/80 19/20 16/17 17/18 19/20 17/18 18/19 20/21 99/00 12/13* 15/16 00/01 13/14	U10 U11 U12 U13 U14 U15 U17  U11 U12 U11 U12 U11	Micallef J Somasundaram R Gill J  McIlwaine A Tharmanesan A McIlwaine A McIlwaine A Neich B  JAV Gill J Corvalan C  Neich B Manwaring T	500g 500g 500g 750g 750g 1.0kg 1.5kg 1.5kg <b>ELIN BC</b> 400g 400g 600g 600g	28.84 35.89 32.59 39.10 32.2 45.70 47.92 42.14 <b>DYS</b> 14.05 29.00 35.10 38.23	14/15 18/19 84/85 18/19 86/87 87/88 17/18 18/19 17/18 13/14 98/99

#### **ELECTRONIC MULIT EVENT**

MULT	I GIRLS			MULT	'I BOYS	
Shailesh S	3186	19/20	<b>U7</b>	Bloomfield C	3072	15/16
Reader A	3877	17/18	U8	Hamilton L	3706	14/15
Reader A	4473	18/19	U9	Gnanaseelan J	4441	14/15
Kot E	4562	19/20	<b>U10</b>	Srisivaeaswaran K	4477	15/16
Reader A	4530	20/21	U11	Sravan Shailesh S	3970	20/21
Paranthaman H	4259	15/16	U11	Manimaran R	3837	15/16
Srisivaeaswaran V	4375	15/16	<b>U12</b>	Gnanaseelan J	4121	17/18
McRae M	4217	15/16	U13	Shrestha N	3966	18/19
Wong J	4671	17/18	<b>U14</b>	Shrestha N	4363	19/20
Srisivaeaswaran V	3956	18/19	U15	Nagle D	3650	14/15
Srisivaeaswaran V	3626	19/20	<b>U17</b>	Flucker E	3749	19/20

U7: 70, PACK, LJ, SP DISC U8: 60H, 100 PACK, LJ, SP, DISC U9-U12: 60H, 100, 800, LJ, HJ, SP, DISC U13-U17: 80/90/100H, 100, 800, LJ, HJ, SP, DISC

#### **ARCHIVED MULTI EVENT**

MU	LTI GIRLS		MULTI BOYS			
Thurlow C	3620	05/06	<b>U7</b>	Thomas M	4002	00/01
Thurlow C	4301	06/07	U8	Perrott J	4532	05/06
				Somasundaram R	4773	12/13*
Goodin D	5421	00/01	U9	Somasundaram R	5851	13/14
Thurlow C	5162	08/09	<b>U10</b>	Perrott J	5559	07/08
Thurlow C	5183	09/10	<b>U11</b>	Hanna J	6117	04/05
Thurlow C	5621	10/11	<b>U12</b>	Masanga J	6486	09/10
French K	4897	99/00	U13	Hanna J	6020	06/07
O'Neill S	5221	98/99	<b>U14</b>	Nimac I	5996	00/01
O'Neill S	5287	99/00	U15	Wong F	6490	98/99
Harris A	3887	13/14	<b>U17</b>	Wheatley J	5655	13/14

U7: 70, PACK, LJ, SP DISC U8: 60H, 100 PACK, LJ, SP, DISC U9-U12: 60H, 100, 800, LJ, HJ, SP, DISC U13-U17: 80/90/100H, 100, 800, LJ, HJ, SP, DISC

<sup>\*</sup> Indicates records made or broken whilst at Gipps Rd, Greystanes during the 2011-2013 period of redevelopment at CV Kelly.

## LIFE MEMBERS

1977	Keith Dubber	1996	Sean Battersby
1977	Graham Martin	1996	Lynn Eastcott
1979	Terry Mills	2000	Trevor Hinwood
1979	John Wheeler	2001	Dave Burbage
1982	Barry Clarke	2002	Tony Ward
1982	Steve Perry	2003	Linda Hinwood
1983	Lesley Fenech	2003	Gary Micallef
1983	Joan Wheeler	2004	Helen Graham
1985	Hans Kropman	2004	Stuart Graham
1986	Paula Avellino	2006	Glenn Levett
1986	Bob Sewell	2008	Jo Micallef
1988	Barbara Hately	2008	Brad Weyland
1991	Yvonne Scorer	2013	Wayne Thurlow
1991	Colin Walker	2013	Michelle Perrott
1991	Max McGregor	2013	Doug Perrott
1992	Vivian Manwaring	2015	Jason Jobson
1995	Henry Speerin		